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1. Which one of the following statements is not a macroeconomic issue?
1. The unemployment rate in South Africa, according to the strict definition, was 26,6% in 2016.
2. The drought experienced in 2015/16 reduced many crop harvests and caused food price inflation in South Africa.
3. The annual inflation rate in South Africa rose from 2015 to 2016.
4. Because of high inflation, it is expected that the interest rate will increase.
5. The drought experienced in 2015/16 reduced the total maize crop harvested and caused the price of maize in South Africa to rise.


2. Which of the following would be included in the calculation of gross domestic product (GDP) of South Africa?
a. A citizen from Zimbabwe (foreign country) earns a wage at a gold mine in South Africa.
b. A farmer from Gauteng (South Africa) buys his neighbour's tractor.
c. Ford Motor Company of America builds an assembly plant in the Eastern Cape (South Africa).
d. Exports of agricultural products to Britain.
e. Imports of motorcars from Japan to South Africa.
1. a, b, c, d and e
2. Only a, c and d
3. Only b, c and e
4. Only a and c
5. Only b and e


3. Which of the following are endogenous variables in the goods market model?
1. The level of output and income and investment spending.
2. Marginal propensity to consume and the level of output and income.
3. The level of output and income.
4. Investment spending.


4. The difference between expenditure on the gross domestic product (GDP) and gross domestic expenditure (GDE) is that …
1. expenditure on the GDP includes both imports and exports, while GDE includes exports and excludes imports.
2. expenditure on the GDP includes exports and excludes imports, while GDE includes both imports and exports.
3. expenditure on the GDP includes exports and excludes imports, while GDE includes imports and excludes exports.
4. expenditure on the GDP includes imports and excludes exports, while GDE includes exports and excludes imports.


5. Expenditure on the gross domestic product is …
a. spending on goods and services produced inside the borders of a country, including imports and excluding exports.
b. spending on goods and services produced inside the borders of a country, excluding imports and including exports.
c. the same as the demand for domestic goods.
d. the same as the domestic demand for goods.
1. a and c
2. a and d
3. b and c
4. b and d


6. In our goods market model an increase in the demand for goods implies …
a. an increase in output
b. an increase in income
c. an increase in the level of employment
d. a decrease in unemployment
e. a decrease in savings
1. a, b, c and d
2. a, b, c and e
3. a, b, d and e
4. a, c, d and e
5. Not option 1, 2, 3 or 4


7. Which of the following are correct in terms of the goods market model?
a. G↑ → Z↑ → Y↑ → YD↑ → C↑
b. I↑ → Z↑ → Y↑ → YD↑ → C↑
c. T↓ → Z↑ → Y↑ → YD↑ → C↑
d. c0↑ → Z↑ → Y↑ → YD↑ → C↑
1. Only a, b and c
2. Only a, b and d
3. Only b, c and d
4. Only a, c and d
5. a, b, c and d


8. Which of the following statements is/are correct in terms of the following consumption function C = c0 +cYD?
a. Men and woman will consume more if their income increases.
b. Y↓ → C↓.
c. There is a positive relationship between income and consumption.
d. A change in the marginal propensity to consume will cause a change in consumption spending.
1. a, b, c and d
2. Only a, b and c
3. Only b and c
4. Only b, c and d
5. Not option 1, 2, 3 or 4



Question 9 is based on the following diagram.
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9. Which of the following statements are correct?
a. Induced consumption is equal to R100 if income is R400.
b. The multiplier is equal to 4.
c. If government spending increases with R50, the equilibrium output and income level will increase by 50 times the multiplier.
d. If there is a change in the marginal propensity to consume, the Z curve will shift upwards and the equilibrium level of output and income will increase.
e. Any change in consumer confidence will have no effect on the above goods market model.
1. a, b and c
2. b, c and d
3. a, c and e
4. b, d and e
5. Only b and c


10. Given that an economy is at equilibrium at an income level less than full employment, an increase in the marginal propensity to consume will results in …
1. upward shift of the demand for goods curve.
2. downward shift of the demand for goods curve.
3. flatter slope of the demand for goods curve.
4. steeper slope of the demand for goods curve.
5. higher vertical intercept of the demand for goods curve.



11. Consider the consumption functions of country A and country B.
Country A: C = 2 000 + 0.7YD
Country B: C = 1 000 + 0.9YD
Which of the following statements is/are correct?
a. In country A autonomous consumption is higher than in country B.
b. In country B induced consumption is definitely higher than in country A.
c. In country B total consumption is definitely higher than in country A.
d. Graphically presented, the slope of consumption curve for country A will be steeper than the slope of the consumption curve for country B.
e. If the level of disposable income is R5 000 in both countries then consumption spending in country B is higher.
1. Only a and d
2. a, b, d and e
3. Only a
4. Only a, c and e
5. Not option 1, 2, 3 or 4




12. In the goods market model, the value of the multiplier will increase if …
1. taxes (T) increase.
2. government spending (G) increases.
3. the marginal propensity to consume (c) increases.
4. investment spending (I) increases.


Questions 13 and 14 are based on the following diagram.
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13. Which of the following statements are correct?
The ZZ curve would shift upwards to ZZ1 if …
a. induced consumption increases.
b. the marginal propensity to consume increases.
c. investment spending increases.
d. government spending increases and/or taxes decrease.
e. there is a positive change in investment confidence and consumer confidence in the economy.
1. a, b and c
2. Only b, c and d
3. b, c, d and e
4. Only c, d and e
5. a, c, d and e



14. Which of the following statements is/are correct?
To reach the full employment level (YF) in the goods market a(n) __________ can be implemented.
a. expansionary fiscal policy
b. expansionary monetary policy
c. contractionary fiscal policy
d. contractionary monetary policy
1. a and b
2. Only a
3. a and c
4. c and d
5. Only b



15. Which of the following statements are correct regarding the goods market model?
a. Government spending is an exogenous variable.
b. An increase in government spending increases income and an increase in income increases government spending but by less than one to one.
c. Expansionary fiscal policy can be the result of an increase in government spending and/or a decrease in taxes and the ZZ curve will shift upwards.
d. If the tax revenue of government is larger than government spending, a budget surplus exists.
1. a, b and c
2. a, b and d
3. a, c and d
4. b, c and d
5. Not option 1, 2, 3 or 4


16. Given a marginal propensity to consume of 0.6 an increase of 200 in government spending and an increase of 240 in taxes will cause the level of output and income to ...
1. decrease by 140.
2. increase by 140.
3. decrease by 160.
4. increase by 240.
5. increase by 160.


17. Given that co = R50 million, Ī = R230 million, G = R300 million, c = ¾, T = R100 million and YF = R3 000 million the equilibrium level of output and income is ____ and in order to reach the full-employment level of income, government spending must increase by ____.
1. R2 320 million; R170 million
2. R2 020 million; R245 million
3. R2 020 million; R980 million
4. R2 720 million; R70 million


18. Which one of the following goods market models represent the data given for question 17 above?
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1. Diagram A
2. Diagram B
3. Diagram C


Given the following information, answer questions 19 and 20
Autonomous consumption = R100 million
Investment spending = R300 million
Government spending = R200 million
Taxes = R60 million
Marginal propensity to consume = 0.75
Full-employment level of income = R2 460 million


19. The equilibrium level of income and output is ...
1. R138.75 million
2. R2 640 million
3. R2 220 million
4. R416.25 million
5. R2 580 million



20. Which of the following will ensure that full-employment is reached?
a. An increase in government spending of R60 million.
b. A decrease in taxes of R80 million.
c. An increase in government spending of R30 million and a decrease in taxes of R40 million.
1. a, b and c
2. Only a and b
3. Only b and c
4. Only a and c
5. Not a, b or c



Questions 21 to 23 are based on the following data for a hypothetical country for 2017.
Marginal propensity to consume = 0.8
Government spending = R360 billion
Government revenue (Taxes) = R241 billion


21. The value of the multiplier is equal to ...
1. 1.2
2. 8
3. 0.2
4. 5


22. During 2017 the country experienced a _____ of _____.
1. budget surplus; R119 billion
2. budget surplus; R241 billion
3. budget deficit; R360 billion
4. budget deficit; R119 billion
5. balanced budget; R0 billion



23. An economist calculated that the gap between the current level of output and income and the full employment level of income as R100 billion.
Which of the following will ensure that full employment is reached?
1. An increase in government spending of R100 billion.
2. An increase in taxation of R100 billion.
3. An increase in government spending of R20 billion.
4. A decrease in taxation of R20 billion.
5. An increase in government spending of R50 billion and a decrease in taxation of R50 billion.


24. Which of the following statements is/are correct referring to the balanced budget?
a. A balanced budget is one where the change in government spending alone will lead to a change in the level of output and income.
b. Assume that c = 0.8. The government increases its spending by 200 and taxes also increase by 200, then the increase in the level of output and income will be 400 due to the increase in government spending and the decrease in the level of output and income will be 200 due to the increase in taxes. The net effect is an increase of 200 in the level of output and income.
c. Assume that c = 0.6. The government increases its spending by 300 and taxes also increase by 300, then the increase in the level of output and income will be 750 due to the increase in government spending and the decrease in the level of output and income will be 450 due to the increase in taxes. The net effect is an increase of 300 in the level of output and income.
d. The net effect of a balanced budget, in other words where ↑G = ↑T by the same amount, will be expansive.
e. The balanced budget multiplier is equal to one; that is for every 1-unit increase in government spending which is matched by a simultaneous 1-unit increase in taxes, the level of output and income will increase by 1-unit.
1. a, b, c, d and e
2. Only a, b, c and e
3. Only b, c, d and e
4. Only b, c and d
5. Not option 1, 2, 3 or 4




Question 25 is based on the following diagram. Assume that G and T increase by R100.
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25. Which of the following statements is/are correct?
a. The multiplier is 4.
b. If government spending increases by R100, the equilibrium level of output and income will be R1 500 and the Z curve will shift to Z1.
c. If taxes then increase by R100, cT will be R80, the new equilibrium level of output and income will be R1 100 and it will be represented by point c in the above diagram.
d. The above diagram and questions imply the working of the balanced budget multiplier.
e. Although there is an increase of R100 in taxes, there will be still an expansionary net effect of R500 on the equilibrium level of output and income.
1. a, b, c and e
2. b, c, d and e
3. Only a, c and e
4. Only b and d
5. Only b, c and d


26. Which of the following statements are correct regarding the financial market?
a. The purpose of this financial market model is to give us an explanation of how the interest rate is determined.
b. The nominal money supply is an endogenous variable and the interest rate is an exogenous variable in the financial market model.
c. Since the nominal money supply is not influenced by the interest rate in our model, but is determined by the central bank it can be regarded as an exogenous variable.
d. The part of the demand for money that is influenced by the level of output and income that will shift the money demand curve rightwards or leftwards is an exogenous variable in our model.
1. a, b and c
2. a, b and d
3. a, c and d
4. Only a and c
5. Not option 1, 2, 3 or 4



27. To calculate an individual's financial wealth, the following different kinds of assets will form part of it:
1. salary, bonds, interest received from bonds and the value of his/her house.
2. salary, balance on cheque account, bonds and dividends received from shares.
3. bonds, gold coins, dividends received from shares and the outstanding balance on his/her home loan.
4. balance on cheque account, cash, bonds, shares, salary, the value of his/her house and paintings.
5. cash, bonds, shares, the value of his/her paintings and gold coins.



28. If income increases, the demand for money …
1. decreases and the money demand curve will shift to the left.
2. increases and the money demand curve will shift to the right.
3. increases and there will be an upward movement along the money demand curve.
4. increases and there will be downward movement along the money demand curve.


Study the following two diagrams and answer question 29.
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29. Which of the followings statements are correct?
a. Diagram A illustrates that as the interest rate increases, the quantity of money demanded decreases; therefore, a negative relationship exists between the interest rate and the quantity of money demanded.
b. Diagram A illustrates that an increase in the interest rate decreases the quantity of money demanded and this is represented by an upward movement along the Md curve.
c. Diagram B illustrates that as the level of income decreases the demand for active balances decreases as financial participants wish to do less transactions.
d. The two diagrams illustrate that a change in the interest rate will cause a movement along the Md curve while a change in income will shift the Md curve.
1. a, b, c and d
2. Only a, b and d
3. Only b, c and d
4. Only a, c and d
5. Only a, b and c



30. Exogenously determined money supply implies that …
1. as the interest rate increases the money supply will also increase.
2. the supply of money is determined by the demand for money and the interest rate.
3. money supply is determined by the central bank.
4. money demand is determined by the central bank.
5. the money supply curve is perfectly elastic.


Questions 31 and 32 are based on the following diagram:
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31. As the level of income increases, the transactions demand for money will:
1. Decrease and an excess supply of money will develop.
2. Increase and an excess demand for money will develop.
3. Stay unchanged.
4. Increase and an excess demand for money will develop.



32. The selling of bonds by the public in order to increase their money holdings will cause the …
1. supply of bonds to decrease, the price of bonds to increase and interest rates to decrease.
2. demand for bonds to decrease, the price of bonds and interest rates increase.
3. supply of bonds to increase, the price of bonds decrease and interest rates increase.
4. demand for bonds to increase, the price of bonds and interest rates decrease.



33. Which of the following is/are correct regarding the financial market?
a. There is a negative or inverse relationship between the price of a treasury bill and the interest rate.
b. If the price of a treasury bill is R9 700 and the rate of return is 3%, the rate of return will be lower than 3% if the price of the treasury bill increases to R9 800.
c. If the face value of the treasury bill is R300 000, the price paid is R280 000 with the maturity date of one year, the rate of return is 7.14%.
d. Assuming that the face value of a treasury bill is R150 000, the price paid for the bill is R138 000 and the date to maturity is one year, the rate of return is 8.70% and it will decrease if the price paid for it increases to R145 000.
1. a, b, c and d
2. Only a, b and c
3. Only b, c and d
4. Only a, c and d
5. Not option 1, 2, 3 or 4



34. If the financial market is in a liquidity trap …
a. monetary policy is ineffective in bringing about a decrease in the interest rate.
b. financial money market participants are willing to hold less money at the same interest rate.
c. a decrease in the interest rate can be brought about by buying of bonds by the central bank.
d. there is a high demand for bonds.
1. Only a
2. Only c
3. a and c
4. a, b and d
5. b, c and d



35. Which one of the following statements represents the following diagram?
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1. A decrease in income with simultaneous contractionary open market operations by the central bank.
2. An increase in income with simultaneous contractionary open market operations by the central bank.
3. An increase in income with simultaneous expansionary open market operations by the central bank.
4. A decrease in income with simultaneous expansionary open market operations by the central bank.


1. The fully exogenous variables in the IS-LM model are ...
1. government spending and investment spending.
2. investment spending and money supply.
3. interest rate and government spending.
4. government spending and money supply.
5. level of output and income and the interest rate.



2. Which of the following statements is/are correct?
a. Investment takes place when firms increase their spending on capital goods.
b. The interest rate is the cost of borrowing money, expressed as a percentage, usually over a period of one year. An increase in the cost of borrowing money causes households and firms to borrow less money.
c. The higher the interest rate, the higher the opportunity cost of your own funds is.
d. An increase in the interest rate decreases investment, which decreases the demand for goods and the equilibrium level of output, and income falls.
1. a, b, c and d
2. Only a, b and c
3. Only b, c and d
4. Only a and d
5. Not option 1, 2, 3 or 4



3. In deriving the IS curve, we assume that:
1. An increase in the rate of interest increases the level of investment spending, shifts the ZZ curve upwards and increases the level of output and income.
2. An increase in the rate of interest decreases the level of investment spending, shifts the ZZ curve downwards and reduces the level of output and income.
3. A decrease in the rate of interest increases the level of investment spending, shifts the ZZ curve downwards and the level of output and income increases.
4. An increase in the rate of interest decreases the level of investment spending, shifts the ZZ curve upwards and the level of output and income decreases.


Study the following diagram that shows the derivation of an IS curve.
Answer questions 4 to 7.
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4. An increase in the interest rate from 6% to 7% …
1. decreases investment spending by 100.
2. increases investment spending by 500.
3. decreases investment spending by 500.
4. decreases investment spending by 1 500.
5. increases investment spending by 1 500.



5. In the goods market autonomous spending decreases from ____ to _____ if the interest rate increases from ___ to ____.
1. 6 000 to 2 000; 6% to 7%
2. 2 500 to 2 000; 6% to 7%
3. 2 500 to 2 000; 7% to 6%
4. 7 500 to 6 000; 6% to 7%
5. 7 500 to 6 000; 7% to 6%



6. At an interest rate of 6% the goods market is in equilibrium at an income and output level of _____ and at an interest rate of 7% the goods market is in equilibrium at an income and output level of ____.
1. 500 2 000
2. 2 000 2 500
3. 2 500 2 000
4. 7 500 6 000
5. 6 000 7 500



7. If the interest rate increases from 6% to 7% the equilibrium level of output and income decreases by____ and the multiplier is equal to ____
1. 500 2
2. 1 500 3
3. 2 000 2.5
4. 7 500 3.5
5. 6 000 4



Questions 8 and 9 are based on the following diagram:
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8. Which of the following statements is/are correct?
a. An increase in the interest rate causes a movement along the IS curve from point a to point b.
b. A decrease in taxes causes a movement along the IS curve from point a to point b.
c. At point a the demand for goods is higher than at point b.
d. At point b the level of investment spending is higher than at point a.
e. At points a and b goods market equilibrium exists, in other words Y = Z.
1. b, c, d and e
2. a, c and e
3. Only b, d and e
4. Only d and e
5. Only b and d



9. A shift of the IS curve to the right can be caused by a(n)…
a. increase in investment spending due to an improvement in investors’ confidence.
b. increase in investment spending due to a decrease in the interest rate.
c. increase in government spending.
d. decrease in taxation.
e. increase in money supply.
f. expansionary fiscal and monetary policy.
g. expansionary fiscal policy.
1. a, c, d and g
2. b, c, d, g and f
3. a, b and g
4. b, c, d, e, f and g
5. Not option 1, 2, 3 or 4


Study the following LM curve and answer question 10 that follows:
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10. Which of the following statements is/are correct?
a. At point a the demand for money is higher than at point b.
b. At point c the money supply is higher than at point a.
c. At point a, point b and point c the financial market is in equilibrium.
d. An increase in the nominal money supply will shift LM to LM1.
e. To derive the LM-curve we change the level of income to determine the effect on the interest rate.
1. a, b, c d and e
2. Only c, d and e
3. Only a and e
4. Only c and e
5. Only b, c, d and e


Questions 11 to 16 are based on the following diagram:
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11. The diagram indicates a(n) ______________ and a(n) ________________.
a. contractionary fiscal policy; contractionary monetary policy
b. expansionary fiscal policy; contractionary monetary policy
c. expansionary fiscal policy; expansionary monetary policy
d. increase in government spending; decrease in nominal money supply
e. increase in government spending; increase in nominal money supply
1. a and d
2. b and d
3. c and e
4. Only c
5. Only e



12. The shift from IS to IS1 causes an increase in the interest rate and the shift from LM to LM1 causes a decrease in the interest rate.
The reason for the higher interest rate in the case of the shift of the IS curve is that the _______ while in the case of the LM curve the interest rate is lower since the ________.
1. money supply is lower; money supply is higher
2. demand for money is higher; money supply is higher
3. money supply is higher; demand for money is higher
4. demand for money is higher; demand for money is higher



13. The shift from IS to IS1 implies investment spending is indeterminate and the shift from LM to LM1 implies that investment spending is ___________.
1. lower
2. higher
3. indeterminate
4. unchanged


14. The reason investment spending is indeterminate in the case of a shift of the IS curve to the right is because an ...
1. increase in the interest rate increases investment while the increase in the level of output decreases investment.
2. increase in the interest rate decreases investment while the increase in the level of output increases investment.
3. increase in the interest rate increases investment while the increase in the level of output increases investment.
4. increase in the interest rate decreases investment while the increase in the level of output decreases investment.



15. The reason investment spending is higher in the case of a shift of the LM curve down is because the ....
1. decrease in the interest rate decreases investment and the increase in the level of output increases investment.
2. decrease in the interest rate increases investment and the increase in the level of output decreases investment.
3. decrease in the interest rate increases investment and the increase in the level of output increases investment.
4. decrease in the interest rate decreases investment and the increase in the level of output decreases investment.



16. The reason the budget deficit increases in case of a shift of the IS curve to the right is because _______ while it is unchanged when the LM curve shifts down since __________.
1. government spending increases and/or taxes decreases; government spending increases and/or taxes increases.
2. government spending increases and/or taxes increases; government spending and/or
taxes are unchanged.
3. government spending and/or taxes are unchanged; government spending increases and/or taxes increases.
4. government spending increases and/or taxes decreases; government spending and/or taxes are unchanged.



17. Assume that there is a trade balance.
An increase in the nominal exchange rate between RSA and the USA implies that …
1. more rands must be paid for a dollar, leading to higher imports and possibly a trade deterioration.
2. fewer rands must be paid for a dollar, leading to lower imports and possibly a trade improvement.
3. fewer rands must be paid for a dollar, leading to lower exports and possibly a trade deterioration.
4. more rands must be paid for a dollar, leading to lower exports and possibly a trade improvement.


18. A trade balance surplus indicates that a country earns more on ________ than it spends on __________ and this would be reflected as a _____________ on the trade balance.
1. imports; exports; improvement
2. exports; imports; deterioration
3. exports; imports; improvement
4. imports; exports; deterioration



Question 19 is based on the following information:
Year 1
GDP deflator for South Africa: 150
GDP deflator for the USA: 120
The nominal exchange rate: R1 = $0.30
Year 2
GDP deflator for South Africa: 190
GDP deflator for the USA: 130
The nominal exchange rate: R1 = $0.28

19. Which of the following statements are correct?
a. The real exchange rate for year 1 is 0.38.
b. The real exchange rate for year 1 is 0.24.
c. The real exchange rate for year 2 is 0.19.
d. The real exchange rate for year 2 is 0.41.
e. Comparing the real exchange rate for year 2 with the real exchange rate for year 1, a real depreciation has occurred.
f. Comparing the real exchange rate for year 2 with the real exchange rate for year 1, a real appreciation has occurred.
1. a, c and e
2. a, d and f
3. b, c and e
4. b, c and f
5. a, d and e



20. The interest parity condition implies that when an investor has to decide between domestic or foreign financial investment he/she would consider the difference in the _________ and the ______________.
1. expected changes in the exchange rate; inflation rate
2. interest rate; expected economic growth
3. level of output and income; expected changes in the exchange rate
4. expected changes in the exchange rate; balance of payments
5. interest rate; expected changes in the exchange rate.


21. Given the following information:
Interest rate on RSA bonds: 8%
Interest rate on USA bonds: 6%
Which one of the following statements is correct?
1. If the expected depreciation of the rand is 3% financial market participants will buy RSA bonds.
2. If the expected depreciation of the rand is 3% financial market participants will buy USA bonds.
3. If the expected depreciation of the rand is 3% financial market participants will be indifferent between RSA and USA bonds.
4. If the expected appreciation of the rand is 3% financial market participants will buy USA bonds.



22. Which of the following statements is/are correct?
a. Exports can be regarded as exogenous because it is determined by the domestic level of output.
b. Exports will increase if there is an increase in the output level of our trading partners.
c. The real exchange rate will influence the level of imports as well as the level of exports, but in opposite directions.
d. When domestic output in the economy increases, it leads to an increase in imports.
e. When domestic output in the economy decreases, it leads to a decrease in exports.
1. b, c and d
2. a and e
3. a, c and d
4. Only c and d
5. Not option 1, 2, 3 or 4



23. Which of the following statements are correct?
a. Foreign demand for domestic goods is also known as exports.
b. Domestic demand for foreign goods is also known as imports.
c. Part of domestic demand falls on foreign/imported goods.
d. The “domestic demand for goods” and the “demand for domestic goods” are the same.
1. a, b, c and d
2. Only a, b and c
3. Only b and d
4. Only c and d
5. Only b, c and d


24. Which of the following statements are correct?
A positive relationship exists between the …
a. real exchange rate and exports.
b. domestic level of output and imports.
c. real exchange rate and imports.
d. domestic level of output and exports.
e. level of foreign output and exports.
1. a, b, c and d
2. a, b, c and e
3. Only b, c and e
4. Only a and d
5. c, d and e



25. If exports are less than imports, then:
1. A trade surplus exists.
2. A trade balance exists.
3. A trade deficit exists.
4. A budget deficit exists.
5. A budget surplus exists.



26. Which one of the following statements is correct?
The NX curve represents the relationship between the ….
1. real exchange rate and imports.
2. level of output and income and imports.
3. level of output and income and the trade balance.
4. level of output and income and exports.
5. nominal exchange rate and the trade balance.



Question 27 is based on the following information:
Exports = R100 million
Imports:
At Y = R200 million imports = R50 million
At Y = R300 million imports = R100 million
At Y = R400 million imports = R150 million

27. Given the information above a NX curve is constructed. Which one of the following diagrams represents the information?
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1. Diagram A
2. Diagram B
3. Diagram C
4. Diagram D
5. Not Diagram A, B, C or D



28. Which of the following statements are correct?
a. Equilibrium output is associated with a trade deficit only.
b. Equilibrium output is associated with a trade surplus only.
c. Equilibrium output is associated with a trade deficit or a trade surplus.
d. The goods market is in equilibrium when domestic output is equal to the demand for domestic goods.
e. The goods market is in equilibrium when domestic output is equal to the domestic demand for goods.
1. a and c
2. b and c
3. a and d
4. b and d
5. c and d


Question 29 is based on the following diagram.
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29. At any income level lower than R80 million a trade surplus occurs because if …
1. Y↑ → IM↑ → NX↓
2. Y↓ → IM↓ → NX↓
3. Y↑ → X↑ → NX↓
4. Y↓ → X↑ → NX↑
5. Y↓ → IM↓ → NX↑


30. Given the equilibrium level of income point in the following diagram, what happens to the level of output and the trade balance if government spending decreases?
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1. The level of output decreases and the trade deficit decreases as imports decrease.
2. The level of output decreases and the trade deficit decreases as exports decrease.
3. The level of output increases and the trade deficit increases as imports increase.
4. The level of output decreases, trade balance is reached as imports increase.


31. Which of the following factors will shift the NX curve to the left?
a. A decrease in imports.
b. A decrease in exports.
c. A decrease in government spending.
d. An increase in domestic demand for foreign goods.
e. A decrease in foreign demand for domestic goods.
1. a, b, c and d
2. b, c and e
3. Only a, c and d
4. Only b and e
5. Only b



32. For the Marshall-Lerner condition to hold a(n) …
1. depreciation must eventually lead to an increase in exports and an improvement in the trade balance.
2. appreciation must eventually lead to an increase in exports and an improvement in the trade balance.
3. depreciation must eventually lead to an increase in imports and deterioration in the trade balance.
4. appreciation must eventually lead to an increase in imports and an improvement in the trade balance.


To answer question 33, use the following model:
[image: ]
33. Which one of the following statements is correct?
1. A depreciation of the exchange rate causes a decrease in exports and in the level of output and income. This is indicated by a downward shift of demand for goods curve.
2. An appreciation of the exchange rate causes an increase in exports and in the level of output and income. This is indicated by an upward shift of the demand for goods curve.
3. An appreciation of the exchange rate causes a decrease in imports and in the level of output and income. This is indicated by a downward shift of the demand for goods curve.
4. A depreciation of the exchange rate causes an increase in exports and in the level of output and income. This is indicated by an upward shift of the demand for goods curve.



34. Based on the following diagram, which one of the following would be likely to achieve a higher output level and a trade surplus?
[image: ]
1. A reduction in taxation.
2. A simultaneous decrease in government spending and an appreciation of the exchange rate.
3. A depreciation of the exchange rate.
4. An appreciation of the exchange rate.


Study the following three diagrams and answer question 35.
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35. Which of the following statements are correct?
a. Diagram A could represent a depreciation of the nominal exchange rate while Diagram C could represent an increase in government spending.
b. Diagram B represents an increase in exports that leads to an increase the equilibrium level of output and income.
c. In diagram A the Marshall-Lerner condition holds since the real depreciation eventually lead to an increase in net exports and therefore an improvement in the trade balance. The positive effect on the trade balance outstripped the negative effect.
d. Diagram C represents the following chain of events: G → Z → Y → IM → NX.
1. a, b, c and d
2. Only a, b and c
3. Only b, c and d
4. Only a, c and d
5. Only a, b and d



Microeconomics studies _________ while macroeconomics studies _______
1. businesses; people.
2. what is happening in the economy currently; what happened in the past.
3. the performance of the private sector; the performance of the government.
4. the overall price level; price determination in a single industry
5. individual decision makers; the economy's overall performance.



Which of the following statements is/are correct?
a. Real GDP is the most used measure of how much output was produced in a country during a specific year.
b. Real GDP is the most commonly used indicator of the level of total economic activity that took place in a country during a specific year.
c. If the population increases at a faster rate than the real GDP, the real per capita GDP will increase.
1. a, b and c
2. Only a and b
3. Only a and c
4. Only b and c
5. None of the options 1 to 4


Which of the following variable are endogenous in the goods market model?
1. The level of output and income and investment spending.
2. Marginal propensity to consume and the level of output and income.
3. The level of output and income.
4. Investment spending.


The difference between expenditure on the gross domestic product and gross domestic expenditure (GDE) is that …
1. expenditure on the gross domestic product includes both imports and exports, while GDE includes exports and excludes imports.
2. expenditure on the gross domestic product includes exports and excludes imports, while GDE includes both imports and exports.
3. expenditure on the gross domestic product includes exports and excludes imports, while GDE includes imports and excludes exports.
4. expenditure on the gross domestic product includes imports and excludes exports, while GDE includes exports and excludes imports.


In South Africa, grants such as the Old Age Pension and the Child Support Grant are termed:
1. Transfer payments and they are a part of government’s final consumption expenditure.
2. Transfer payments and they are excluded from government’s final consumption expenditure.
3. Donations and they are a part of government’s final consumption expenditure.
4. Donations and they are excluded from government’s final consumption expenditure.

The biggest contributor to gross fixed capital formation in South Africa is:
1. General government
2. The foreign sector
3. Private business enterprises
4. Public corporations


The demand for goods is influenced by the following factors: 

a. The behaviour of households. 
b. Government spending and taxes. 
c. The variables that influence investment spending. 

1. a, b and c 
2. Only a and b 
3. Only a and c 
4. Only b and c 
5. None of the options 1 to 4 is correct

A decrease in income will cause a decrease in … 

a. autonomous consumption. 
b. induced consumption. 
c. disposable income. 

1. a, b and c 
2. Only a and b 
3. Only a and c 
4. Only b and c 
5. Only c

Which of the following is true in terms of consumption spending? 

a. An increase in the marginal propensity to consume will change the vertical intercept of the consumption function. 
b. Autonomous consumption decreases if the availability of credit decreases. 
c. The equilibrium level of output and income will decrease if the marginal propensity to save decreases. 

1. a, b and c 
2. Only a and b 
3. Only a and c 
4. Only b and c 
5. None of the options 1 to 4


Which of the following statements is/are correct? 

a. A change in the marginal propensity to consume will cause a change in consumption spending. 
b. If the marginal propensity to consume increases, consumption spending will increase. 
c. If the marginal propensity to consume decreases, savings will increase. 

1. a, b and c 
2. Only a and b 
3. Only a and c 
4. Only b and c 
5. None of the options 1 to 4

The following is based on the following diagrams. Consider the consumption functions of country A and country B
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Which of the following statements is/are correct? 

a. The consumption function for country A is: C = 2 000 + 0.7YD. 
b. The consumption function for country B is: C = 1 000 + 0.9YD. 
c. In country A autonomous consumption is higher than in country B. 
d. In country B induced consumption is definitely higher than in country A if the level of disposable income is R5 000. 
e. If the level of disposable income is R5 000 in both countries then consumption spending in country B is higher. 

1. a, b, c, d and e 
2. Only a, b, c and d 
3. Only b, c, d and e 
4. Only a, b, d and e 
5. Only a, b and c


To counter the impact of a decrease in consumer confidence and investor confidence on the level of output and income, the government can … 

a. increase government spending and decrease taxes which is represented by an upward shift of the demand for goods curve and via the multiplier effect the level of output and income increases. 
b. decrease government spending and increase taxes which is represented by a downward shift of the demand for goods curve and via the multiplier effect the level of output and income increases. 
c. use an expansionary fiscal policy. 
d. use a contractionary fiscal policy. 

1. b and c 
2. a and b 
3. c and d 
4. a and c 
5. b and d

Based on the following goods market model:
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In the goods market model a decrease in taxes will result in … 

a. a downward shift of the ZZ curve. 
b. an increase in autonomous consumption. 
c. an increase in disposable income. 
d. an increase in the level of output and income. 
e. a decrease in induced consumption. 

1. a, b, c and d 
2. Only a, b and d 
3. b, c and e 
4. Only a, c and d 
5. Only c and d


Based on the following goods market model:
[image: ]
Which of the following are correct in terms of the goods market model? 

a. G↑ → Z↑ → Y↑ → YD↑ → C↑ 
b. I↑ → Z↑ → Y↑ → YD↑ → C↑ 
c. T↓ → Z↑ → Y↑ → YD↑ → C↑ 
d. c0↑ → Z↑ → Y↑ → YD↑ → C↑ 
e. The ZZ curve will shift upwards if autonomous investment spending increases. 

1. a, b, c, d and e 
2. Only a, b and c 
3. Only a, b, d and e 
4. Only b, c and d 
5. Only a, c and d


Based on the following goods market model:
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Which of the following are correct in terms of the goods market model? 

a. Autonomous consumption is represented by c0 + Ī + G – cT. 
b. Induced consumption is presented by cYD. 
c. The demand for goods determines the amount of goods that producers produce and they will only change their output (production) if the demand for goods changes. 
d. Equilibrium is presented by Y = c0 + c(Y−T) + Ī + G or Y = 1/1–c(c0 + Ī + G – cT). 

1. a, b, c and d 
2. Only a, b and d 
3. Only b, c and d 
4. Only a, b and c 
5. Only a, c and d


Which of the following statements is/are correct? 

a. Spending by households, private firms and government on residential and non-residential capital goods is termed gross capital formation. 
b. Financial investment does not directly create production capacity and is therefore not included in our analysis. 
c. In the goods market model an increase in investment leads to an increase in savings.
1. a, b and c 
2. Only a and b 
3. Only a and c 
4. Only b and c 
5. Only a

Given the following information, answer questions 17 and 18 that follow: 
Autonomous consumption = R100 million 
Investment spending = R300 million 
Government spending = R200 million 
Taxes = R60 million 
Marginal propensity to consume = ¾ (0.75) 
Full-employment level of output and income = R2 460 million 

The equilibrium level of output and income is ... 

1. R138.75 million 
2. R2 640 million 
3. R2 220 million 
4. R416.25 million 
5. R2 580 million

Which of the following will ensure that full-employment will be reached? 

a. An increase in government spending of R60 million. 
b. A decrease in taxes of R80 million. 
c. An increase in government spending of R30 million and a decrease in taxes of R40 million. 

1. a, b and c 
2. Only a and b 
3. Only b and c 
4. Only a and c 
5. Not a, b or c



Based on the following data for the country PORTHOS for 2017
Marginal propensity to consume = 0.5 
Autonomous consumption = R600 million 
Investment spending = R40 million 
Government spending = R280 million 
Taxes = R300 million
Which of the following statements are correct? 
a. The value of the multiplier is equal to 2. 
b. The budget surplus is R20 million. 
c. The equilibrium level of output and income is R1 540 million. 
d. Total consumption is R1 220 million.
1. Only a, b and c 
2. Only a, b and d 
3. Only b, c and d 
4. Only a, c and d 
5. a, b, c and d


Based on the following data for the country PORTHOS for 2017
Marginal propensity to consume = 0.5 
Autonomous consumption = R600 million 
Investment spending = R40 million 
Government spending = R280 million 
Taxes = R300 million
An economist, Dr Alfred Khumalo, calculated that the gap between the current level of output and income and the full employment level of income is R110 million. 

Which of the following will ensure that the equilibrium level of output and income is equal to the full employment level of output and income? 

a. An increase in government spending of R80 million which will result in a budget deficit of R10 million. 
b. A decrease in taxation of R160 million which will result in a budget deficit of R90 million. 
c. An increase in government spending of R40 million and a decrease in taxation of R80 million which will result in a budget deficit of R50 million. 

1. Only a 
2. Only b 
3. Only c 
4. a and b 
5. None of the options 1 to 4


Based on the following data for the country PORTHOS for 2017
Marginal propensity to consume = 0.5 
Autonomous consumption = R600 million 
Investment spending = R40 million 
Government spending = R280 million 
Taxes = R300 million
The President of the country Mr Cold Water is not interested in full employment. He is only interested in winning the general elections during the current fiscal year and decided to cut taxes by R150 million. 
By how much will the level of output and income increase if taxes are cut by R150 million? 

1. R150 million. 
2. R300 million. 
3. R75 million. 
4. R50 million.


Based on the following data for the country PORTHOS for 2017
Marginal propensity to consume = 0.5 
Autonomous consumption = R600 million 
Investment spending = R40 million 
Government spending = R280 million 
Taxes = R300 million
Which of the following statements is/are correct referring to the balanced budget? 

a. A balanced budget is one where the change in government spending alone will lead to a change in the level of output and income. 
b. Assume that c = 0.8. The government increases its spending by 200 and taxes increase also by 200, then the increase in the level of output and income will be 400 due to the increase in government spending and the decrease in the level of output and income will be 200 due to the increase in taxes. The net effect is an increase of 200 in the level of output and income. 
c. Assume that c = 0.6. The government increases its spending by 300 and taxes increase also by 300, then the increase in the level of output and income will be 750 due to the increase in government spending and the decrease in the level of output and income will be 450 due to the increase in taxes. The net effect is an increase of 300 in the level of output and income. 
d. The net effect of a balanced budget, in other words where ↑G = ↑T will be expansive. 
e. The balanced budget multiplier is equal to one; that is for every 1 unit increase in government spending which is matched by a simultaneous 1 unit increase in taxes, output and income increase by 1 unit. 

1. a, b, c, d and e 
2. Only a, b, c and e 
3. Only b, c, d and e 
4. Only b, c and d 
5. Not option 1, 2, 3 or 4

Based on the following data for the country PORTHOS for 2017
Marginal propensity to consume = 0.5 
Autonomous consumption = R600 million 
Investment spending = R40 million 
Government spending = R280 million 
Taxes = R300 million


Based on the following data for the country PORTHOS for 2017
Marginal propensity to consume = 0.5 
Autonomous consumption = R600 million 
Investment spending = R40 million 
Government spending = R280 million 
Taxes = R300 million
If government spending and taxes increase by the same amount (R500 million), the effect on the ZZ curve will be: 

1. The ZZ curve will not shift. 
2. The ZZ curve will shift upwards. 
3. The ZZ curve will swivel downwards. 
4. The ZZ curve will shift downwards. 
5. The ZZ curve will swivel upwards.

The following is based on the following diagram. Assume that G and T increase by R100
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Which of the following statements is/are correct? 

a. The multiplier is 4. 
b. If government spending increases by R100, the equilibrium level of output and income will be R1 500 and the Z curve will shift to Z1. 
c. If taxes then increase by R100, cT will be R80, the equilibrium level of output and income will be R1 100 and it will be represented by point a in the above diagram. 
d. The above diagram and questions imply the working of the balanced budget multiplier. 
e. Although there is an increase of R100 in taxes, there will still be an expansionary net effect of R500 on the equilibrium level of output and income. 

1. a, b, c and e 
2. b, c, d and e 
3. Only a, c and e 
4. Only b and d 
5. Not option 1, 2, 3 or 4

Which of the following are exogenous variables in the financial market? 

1. The interest rate. 
2. Real money supply and the total demand for money. 
3. Interest rate, the demand for money and the nominal money supply. 
4. Nominal money supply and the part of the demand for money that is influenced by expectations, business confidence, and political and social factors.

A ________ relationship exists between the demand for money (Md) and the interest rate, an increase in the interest rate will cause a _______ . 

1. negative; downward movement along the Md curve 
2. negative; upward movement along the Md curve 
3. positive; upward movement along the Md curve 
4. positive; downward movement along the Md curve

An increase in income will cause: 

1. The demand for money to increase and the Md curve will shift to the right. 
2. The demand for money will decrease and the Md curve will shift to the left. 
3. The demand for money will increase and there will be an upward movement along the Md curve. 
4. The demand for money will decrease and there will be a downward movement along the Md curve

Exogenously determined money supply implies that … 

1. as the interest rate increases the money supply will also increase. 
2. the supply of money is determined by the demand for money and the interest rate. 
3. money supply is determined by the central bank. 
4. money demand is determined by the central bank. 
5. the money supply curve is perfectly elastic.

Based on the following diagram which represents changes in the supply of money. The horizontal axis represents millions of rand
[image: ]

Which of the following statements are correct? 
At the initial interest rate of 10% … 

a. An increase in the supply of money from MS to MS1 results in a surplus of money of R50 million. 
b. An increase in the supply of money from MS to MS1 results in a shortage of money of R50 million. 
c. A decrease in the supply of money from MS to MS2 results in a surplus of money of R50 million. 
d. A decrease in the supply of money from MS to MS2 results in a shortage of money of R50 million. 

1. Only a and d 
2. Only b and d 
3. Only a and c 
4. Only b and c

Based on the following diagram which represents changes in the supply of money. The horizontal axis represents millions of rand
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A shift from MS to MS2 represents the impact of an … 

1. expansionary monetary policy where the central bank buys treasury bills on the open market and consequently the interest rate increases. 
2. expansionary monetary policy where the central bank sells treasury bills on the open market and consequently the interest rate increases. 
3. contractionary monetary policy where the central bank sells treasury bills on the open market and consequently the interest rate increases. 
4. contractionary monetary policy where the central bank buys treasury bills on the open market and consequently the interest rate increases.

Assuming that the face value of a treasury bill is R150 000, the price paid for the bill is R138 000 and the date to maturity is one year, the rate of return is … 

1. 7.14% and it will decrease if the price paid for the treasury bill decreases to 
R135 000. 
2. 7.14% and it will increase if the price paid for the treasury bill decreases to R135 000. 
3. 8.70% and it will decrease if the price paid for the treasury bill increases to R145 000. 
4. 8.70% and it will increase if the price paid for the treasury bill increases to R145 000.

Assuming that the face value of the treasury bill is R250 000 and the date to maturity is one year. Which of the following statements is/are correct? 
(The rate of return is rounded off to one decimal point.) 

a. If the price paid for the treasury bill is R245 000 the rate of return is 2.0%. 
b. If the price paid for the treasury bill is R243 000 the rate of return is 2.9%. 
c. If the price paid for the treasury bill is R242 750 the rate of return is 3.0%. 
d. If the price paid for the treasury bill is R210 000 the rate of return is 19.0%. 

1. Only a, b and c 
2. Only a, b and d 
3. Only b, c and d 
4. Only a, c and d 
5. a, b, c and d

Which of the following statements is/are correct? 

a. An increase in income shifts the demand for money curve to the right. 
b. An increase in the interest rate is represented by an upward movement along the demand for money curve. 
c. The money supply is determined by the central bank and is represented by a horizontal line, because it is not a function of the interest rate. 

1. a, b and c 
2. Only a and c 
3. Only a and b 
4. Only b and c 
5. Only a

If the financial market is in a liquidity trap it implies that … 

a. the return on holding bonds is extremely high. 
b. there is a high demand for money. 
c. there is a high demand for bonds. 
d. the return on holding bonds is extremely low. 

1. a, b and d 
2. Only c 
3. Only a and c 
4. Only b and d 
5. Only b

A decrease in income with simultaneous contractionary open market operations by the central bank shifts the … 

1. demand for money curve to the left and the money supply curve to the left. 
The equilibrium interest rate is indeterminate. 
2. demand for money curve to the right and the money supply curve to the left. 
The equilibrium interest rate is higher. 
3. demand for money curve to the left and the money supply curve to the right. 
The equilibrium interest rate is indeterminate. 
4. demand for money curve to the right and the money supply curve to the left. 
The equilibrium interest rate is lower.

Which of the following are fully exogenous variables in the IS-LM model? 

1. Level of output, interest rate, investment, consumption spending. 
2. Government spending, taxation, money supply, marginal propensity to consume. 
3. Interest rate, demand for money, supply of money. 
4. Consumption spending, investment, government spending.

Which of the following statements are correct? 
In the IS-LM model: 

a. Investment is influenced only by the interest rate. 
b. Investment is influenced by exogenous factors such as expectations, business confidence and regulations. 
c. Investment is influenced by the interest rate and the level of output and income. 
d. Investment is negatively related to the interest rate and the level of output and income. 
e. Investment is negatively related to the interest rate and positively related to the level of output and income. 

1. a and b 
2. b, c and e 
3. b, c and d 
4. a and e 
5. Only c and e

Which of the following statements is/are correct? 

a. To derive the IS curve, we change the interest rate to determine the effect on the level of output and income. 
b. To derive the IS curve, we change the level of output and income to determine the effect on the interest rate. 
c. The IS curve represents combinations of output and income levels and interest rates where the financial market is in equilibrium, given that all autonomous variables are unchanged. 
d. The IS curve represents combinations of output and income levels and interest rates where the goods and financial markets are in equilibrium, given that all autonomous variables are unchanged.
1. Not a, b, c or d 
2. Only a 
3. Only b 
4. Only c 
5. a and d

Which of the following statement(s) is/are correct? 

a. A shift of the IS curve occurs when the interest rate changes. 
b. A change in investment spending due to a change in autonomous investment is represented by a movement along the IS curve. 
c. A change in investment spending due to a change in the interest rate is represented by a movement along the IS curve. 

1. Not a, b or c 
2. Only a 
3. Only b 
4. Only c 
5. a and b

Question based on the following diagram
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Which of the following statements are correct? 

a. Goods market equilibrium exists only at points a and b. 
b. At point c the level of autonomous spending is higher than at point a. 
c. At point a the interest rate is higher than at point b, therefore investment spending will be lower at point a compared to point b. 
d. At point a the demand for goods is lower than at point b. 

1. a, b, c and d 
2. Only a, c and d 
3. Only b, c and d 
4. Only c and d 
5. Only b and c

In deriving the LM curve, we assume that an increase in income in the financial market … 

1. shifts the Ms curve to the right causing the interest rate to increase. 
2. shifts the Ms curve to the left causing the interest rate to decrease. 
3. shifts the Md curve to the right causing the interest rate to increase. 
4. shifts the Md curve to the left causing the interest rate to increase.

Following question is based on the following diagram
[image: ]
A movement from point a to point b on the LM curve implies that ... 

1. the money supply in the economy decreases causing the interest rate to increase. 
2. an increase in the level of output and income increases the money supply and the interest rate decreases. 
3. an increase in the level of output and income increases the demand for money and the interest rate increases. 
4. an increase in the interest rate decreases investment spending in the economy. 
5. the money supply in the economy increases causing the level of output and income to increase.

An expansionary fiscal policy, for example an increase in government spending, will … 

a. shift the IS curve to the right. 
b. have an impact on the financial market first and then on the goods market. 
c. increase the level of output and income and therefore the supply of money will be higher. 
d. definitely increase investment spending. 
e. decrease the interest rate, which will lead to an increase in investment spending. 

1. a, b and c 
2. d and e 
3. a and d 
4. Only b and c 
5. Only a

An increase in the nominal money supply … 

a. refers to a contractionary monetary policy. 
b. will have an impact on the financial market first and then on the goods market. 
c. will lead to a decrease in the interest rate because the demand for money increases. 
d. results in investment spending definitely increasing. 
e. leads to an increase in the level of output and income (Y). This increase in Y will increase investment spending and consumption spending through the multiplier process. 

1. a, b, d and e 
2. b, c, d and e 
3. Only b, d and e 
4. Only b and d 
5. Only c

Which of the following statements are correct? 

a. If the marginal propensity to consume changes from 0.5 to 0.8 the size of the multiplier will increase and the greater the impact of a given change in government spending (G) on the level of output and income (Y) will be. 
b. The greater the interest sensitivity of investment spending and the greater the output and income sensitivity of investment spending, the more effective an increase in government spending will be in increasing the level of output and income. 
c. The steepness of the IS curve depends on the interest sensitivity of investment spending and the output and income sensitivity of investment spending. 
d. If a small change in the interest rate leads to a great impact on investment spending it means that investment spending is very sensitive to a change in the interest rate. Consequently this greater impact on investment spending will have a greater impact on output and income and the IS curve will be flatter. 

1. a, b, c and d 
2. Only a, b and c 
3. Only c and d 
4. Only a, c and d 
5. Only a and d

When comparing a contractionary fiscal policy with an expansionary monetary policy in the IS-LM model the results regarding the interest rate and investment spending are as follows: Answer 1
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In the IS-LM model, which one of the following policy actions will cause a decline in the budget deficit without a corresponding decline in the level of output and income given that the relative shifts of the IS curve and the LM curve are the same? 

1. A contractionary fiscal policy and an expansionary monetary policy. 
2. An expansionary fiscal policy and an expansionary monetary policy. 
3. A contractionary fiscal policy and a contractionary monetary policy. 
4. An expansionary fiscal policy and a contractionary monetary policy.

Comparing the impact of an increase in government spending in the goods market model with the impact of an increase in government spending in the IS-LM model: 

a. In both models the level of output and income will increase. 
b. In both models consumption spending will be higher. 
c. The interest rate will be unchanged in the goods market model and lower in the IS-LM model. 
d. Investment spending will be unchanged in the goods market model but definitely higher in the IS-LM model.
1. a, b and c 
2. b, c and d 
3. a, b and d 
4. Only a and b 
5. None of the options 1 to 4

Which of the following statements are correct? 

a. Diagram A illustrates an expansionary fiscal policy and an expansionary monetary policy. 
b. Diagram B illustrates a contractionary fiscal policy and a contractionary monetary policy. 
c. Diagram A illustrates a contractionary fiscal policy and a contractionary monetary policy. For example, an increase in taxation combined with a decrease in the money supply. 
d. A contractionary fiscal policy for example a decrease in government spending combined with an expansionary monetary policy e.g. an increase in the money supply is illustrated in Diagram B. 
e. Refer to diagram B. The possible reason for the shift of the IS curve to the left is a decrease in government spending and for the downward shift of the LM curve is an increase in the demand for money. 

1. Only c and d 
2. b, c and d 
3. a, b, d and e 
4. c, d and e 
5. Only b and c

Which of the following refers to a depreciation of the rand? 

a. R1 = $0.30 to R1 = $0.25 
b. R1 = $0.25 to R1 = $0.30 
c. R1 = $0.50 to R1 = $0.55 
d. $1 = R8 to $1 = R7 
e. $1 = R7 to $1 = R8
1. a and c 
2. Only b and c 
3. a and e 
4. b, c and d 
5. b and e

An increase in the nominal exchange rate between RSA and the USA implies that … 

1. more rands must be paid for a dollar, leading to higher imports and possibly a trade deficit. 
2. fewer rands must be paid for a dollar, leading to lower imports and possibly a trade surplus. 
3. fewer rands must be paid for a dollar, leading to lower exports and possibly a trade deficit. 
4. more rands must be paid for a dollar, leading to lower exports and possibly a trade surplus.

An increase in the real exchange rate implies that … 

a. SA goods are now relatively cheaper than the goods produced in the rest of the world. 
b. SA goods are now relatively more expensive than the goods produced in the rest of the world. 
c. exports will increase. 
d. exports will decrease. 

1. a and c 
2. b and c 
3. a and d 
4. b and d 
5. Only d

Which of the following statements are correct regarding the current account of the South African balance of payments? 

a. The money spent by tourists who visit South Africa is included in service receipts. 
b. A trade balance deficit indicates that exports exceeded imports. 
c. Income receipts refer to income earned by South African residents in the rest of the world, while income payments refer to income earned by non-residents in South Africa. 
d. To calculate the trade balance net gold exports is included. 
e. The rand value of net gold exports is included in the merchandise exports figure. 

1. a, b and d 
2. a, c and d 
3. b and c 
4. Only a and d 
5. b and e

A trade balance deficit indicates that … 

1. government spending exceeds tax revenue. 
2. merchandise exports exceed merchandise imports. 
3. tax revenue exceeds government spending. 
4. imports of services exceed exports of services. 
5. merchandise imports exceed merchandise exports.

Given the following information: 
Interest rate on RSA bonds: 12% 
Interest rate on USA bonds: 8% 

Which one of the following statements is correct? 

1. If the expected depreciation of the rand is 5% financial market participants will be indifferent between RSA and USA bonds. 
2. If the expected appreciation of the rand is 5% financial market participants will buy USA bonds. 
3. If the expected depreciation of the rand is 5% financial market participants will buy USA bonds. 
4. If the expected depreciation of the rand is 5% financial market participants will buy RSA bonds.

The ____________________ condition implies that if an investor’s only concern is the expected rate of return when choosing to invest in either domestic or foreign financial investment, he/she would consider the difference in the interest rate and the _________________________. 

1. multilateral parity; 		expected changes in the exchange rate 
2. interest rate relation; 		expected economic growth 
3. multilateral interest parity; 	expected changes in the exchange rate 
4. interest parity; 			expected changes in the exchange rate 
5. interest parity; 			expected economic growth

Which of the following statements are correct? 

a. The “domestic demand for goods” and the “demand for domestic goods” are the same. 
b. Part of domestic demand falls on foreign/imported goods. 
c. Foreign demand for domestic goods is also known as exports. 
d. Domestic demand for foreign goods is also known as imports. 

1. a, b, c and d 
2. Only a, b and c 
3. Only b and d 
4. Only c and d 
5. Only b, c and d

Regarding the determinants of exports, which of the following are correct? 

a. Y↓ → X↓ 
b. Y*↓ → X↓ 
c. Y*↑ → X↓ 
d. ε↑ → X↑ 
e. ε↑ → X↓ 

1. a and e 
2. a and d 
3. b and e 
4. b and d 
5. c and e

Following is based on the following diagram
[image: ]

Which of the following statements are correct? 

a. At an income level of R320 million, imports exceed exports. 
b. At an income level of R80 million a trade deficit occurs. 
c. A trade surplus occurs at an income level of R80 million because imports exceed exports. 
d. Point b is the trade balance point because exports equal imports. 
e. At an income level higher than the income level of R200 million, a trade deficit occurs because imports exceed exports. 

1. a, b, d and e 
2. b, c and d 
3. Only d and e 
4. a, c and d 
5. Only a, d and e

Which of the following statements are correct? 

a. The goods market is in equilibrium when domestic output is equal to the demand for domestic goods. 
b. The goods market is in equilibrium when domestic output is equal to the domestic demand for goods. 
c. Equilibrium output is associated with a trade deficit only. 
d. Equilibrium output is associated with a trade surplus only. 
e. Equilibrium output can be associated with a trade deficit or a trade surplus. 

1. a and c 
2. b and c 
3. a and d 
4. b and d 
5. a and e

Following question is based on the following diagram
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At any income level lower than R80 million a trade surplus occurs because if … 

1. Y↑ → IM↑ → NX↓ 
2. Y↓ → IM↓ → NX↓ 
3. Y↑ → X↑ → NX↓ 
4. Y↓ → X↑ → NX↑ 
5. Y↓ → IM↓ → NX↑

Give the equilibrium level of output and income position in the following diagram, what happens to the level of output and income and the trade balance if government spending decreases?
[image: ]
1. The level of output and income decreases and the trade deficit decreases as imports decrease. 
2. The level of output and income decreases and the trade deficit decreases as exports decrease. 
3. The level of output and income increases and the trade deficit increases as imports increase. 
4. The level of output and income decreases and trade balance is reached as imports increase.

A decrease in domestic demand, for instance through a decrease in government spending, can be presented by the following chain event: 

1. G↑ → Z↑ → Y↑ → IM↑ → NX↓ 
2. G↓ → Z↓ → Y↓ → IM↓ → NX↓ 
3. G↓ → Z↓ → Y↓ → IM↓ → NX↑ 
4. G↓ → Z↓ → Y↓ → X↓ → NX↑ 
5. G↓ → Z↓ → Y↓ → X↑ → NX↓

An increase in the demand for domestic goods takes place if … 

1. imports increase. 
2. exports increase. 
3. investment spending declines. 
4. consumption spending declines. 
5. government spending declines.

An increase in exports … 

1. increases the demand for foreign goods. 
2. increases the demand for domestic goods. 
3. increases domestic expenditure. 
4. is recorded on the financial account of the balance of payments. 
5. gives rise to a trade deficit if the initial equilibrium position is a trade balance.

Which of the following factors will shift the NX curve to the left? 

a. A decrease in imports. 
b. A decrease in exports. 
c. A decrease in government spending. 
d. An increase in domestic demand for foreign goods. 
e. A decrease in foreign demand for domestic goods.
1. a, b, c and d 
2. b, c and e 
3. Only a, c and d 
4. Only b and e 
5. Only d

Given the goods market equilibrium in the following diagram, what would the likely impact of a depreciation of the domestic currency be?
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1. The domestic level of output and income will increase and there will be a trade deficit. 
2. The domestic level of output and income will decrease and there will be a trade surplus. 
3. The domestic level of output and income will decrease and there will be a trade deficit. 
4. The domestic level of output and income will be unchanged and there will be a trade surplus. 
5. The domestic level of output and income will increase and there will be a trade surplus.

The following question is based on the following diagram
[image: ]
The above diagram illustrates the following chain of events: 

1. G↑ → Z↑ → Y↑ → IM↑ → NX↓ 
2. G↓ → Z↓ → Y↓ → IM↓ → NX↑ 
3. X↑ → Z↑ → Y↑ → IM↑→ NX↑ 
4. X↓ → Z↑ → Y↓ → IM↓ → NX↓ 
5. Y↑ → G↑ → Z↑ → Y↑ → IM↑ → NX↓

For the Marshall-Lerner condition to hold a(n) … 

1. depreciation must eventually lead to an increase in exports and an improvement in the trade balance. 
2. appreciation must eventually lead to an increase in exports and an improvement in the trade balance. 
3. depreciation must eventually lead to an increase in imports and deterioration in the trade balance. 
4. appreciation must eventually lead to an increase in imports and an improvement in the trade balance.

The following is based on the following:
Compare the impact on the level of output and the trade balance of an increase in foreign demand with that of an increase in domestic demand.
Hint: Complete the following diagram and then answer the question.
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Which of the following statements are correct? 

a. An increase in foreign demand and an increase in domestic demand will shift the demand curve ZZ1 upwards and the level of output and income increases in both instances. 
b. An increase in foreign demand will shift the NX curve to the right while an increase in domestic demand will cause a downward movement along the NX curve. 
c. An increase in foreign demand will shift the NX curve to the right while an increase in domestic demand will cause an upward movement along the NX curve. 
d. In the case of an increase in foreign demand the trade balance will improve and in the case of an increase in domestic demand the trade balance worsens. 
e. In the case of an increase in foreign demand a trade surplus occurs and in the case of an increase in domestic demand a trade deficit occurs. 

1. a, b, c, d and e 
2. Only b, c and d 
3. Only b, d and e 
4. Only a, b, d and e 
5. Only b and e



What institution issues treasury bills?
The treasury 

Calculate autonomous spending. Formula & calculations.
The formula is C = A + MD. That is to say, C (consumer spending) equals A (autonomous consumption) added to the product of M (marginal propensity to consume) and D (true disposable income).


The multiplier effect in the economy results from the behaviour of households. Briefly explain why.
The multiplier effect refers to the increase in final income arising from any new injection of spending. ... Marginal propensities show the proportion of extra income allocated to particular activities, such as investment spending by UK firms, saving by households, and spending on imports from abroad.


Identify the three factors that impact on the nominal wage in the wage-setting relationship.
Any factor, other than the unemployment rate, that increases the bargaining power of workers will cause the wage-setting relationship to change. Expected price level, institutional factors
List the components of the “domestic demand for goods”. Give an example which would lead to an increase in the domestic demand for goods
The determinants of C, I and G are the same factors that were explained in learning units 2 and 4. Consumption (C) is a function of disposable income (YD); investment (I) is a function of the level of output and income (Y) and the real interest rate (r); and government spending (G) is regarded as exogenous.


Define a government budget deficit
A budget deficit is an indicator of financial health in which expenditures exceed revenue. The term budget deficit is most commonly used to refer to government spending rather than business or individual spending, but can be applied to all of these entities.


Which stabilisation policy can be used to reduce a budget deficit?
A contractionary fiscal policy entails a decrease in the demand for goods in the economy by decreasing government spending and/or increasing taxes. A result of such a policy is that the budget deficit decreases.


Define a depreciation of the nominal exchange rate.
The nominal exchange rate E is defined as the number of units of the domestic currency that can purchase a unit of a given foreign currency. ... (Under the fixed exchange rate regime, a downward adjustment of the rate E is termed revaluation.) An increase in this variable is termed nominal depreciation of the currency.


How to calculate the multiplier. Formula & calculations
[image: C:\Users\Sandile\Pictures\Screenshots\Screenshot (18).png]


Question 1
Use the following goods market model to explain how taxes can be used to ensure full employment. Indicate any shift and/or movement on the diagram.
[image: ]


Please note that the question requires you to make use of the diagram. You must therefore not only describe your answer in words but you also need to show what happens on the diagram. 
Your answer should contain the following information: 
Explanation: 
You must indicate that a decrease in taxes is required to ensure full employment. Note that a decrease in taxes is one of the instruments of expansionary fiscal policy. 
You then need to describe how a decrease in taxes will affect the level of output and income and the employment. For this purpose, you can use the following chain of events. 
T↑ → YD↑ → C↑ → Z↑ → Y↑ 
You then need to indicate the impact of a decrease in taxes on the diagram by showing that it shifts the ZZ curve upwards to ZZ1 and that the full employment level of output and income is reached at YF. 
You then end your answer with your conclusion namely that it is possible to reach full employment by increasing the demand for goods through a decrease in taxation.



Question 2
Use the following goods market model to illustrate and explain the impact of a simultaneous increase of 200 in government spending and an increase of 200 in taxes on the level of output and income.
[image: ]

To be able to answer this question you need to understand the balanced budget multiplier. (See Section 2.6 in the study guide.) In your answer you need to make use of the information provided – that is the 200 increase in government spending and taxation – and explain as well as illustrate on the diagram how this will affect the level of output and income. 
In order to answer this question you need to know the values of the marginal propensity to consume and the multiplier. In this question the marginal propensity to consume and the multiplier can be derived using the information given in the diagram. If the given information could not be used to calculate the marginal propensity to consume or the multiplier you would be expected to make an assumption about one and derive the other one given that assumption. 
In this instance, however the information does allow us to calculate the marginal propensity to consume and the multiplier thus you cannot make your own assumption about these amounts. 
How to calculate the marginal propensity to consume and the multiplier given that the demand for goods is 500 and it corresponds to a level of output and income of 2 500. 
We know that the equilibrium level of output and income is equal to the multiplier times autonomous spending. 
Therefore: 2 500 = multiplier x 500 
Multiplier = 2 500/500 
Therefore, the multiplier is equal to 5. 
Now that we know the value of the multiplier, we can calculate the marginal propensity to consume 
Multiplier = 1 / 1 – marginal propensity to consume 
5 = 1/ 1 – c 
5 (1 – c) = 1 
5 – 5c = 1 
–5c = 1 – 5 
–5c = –4 
c = 4/5 
c = 0.8 
Starting with an increase in government spending (G) the increase in autonomous spending is 200 since G is one of the autonomous spending components. This is illustrated by an upward shift of the demand curve for goods by 200 (from Z to Z1). 
The increase in the level of output and income is therefore 200 x 5 = 1 000 and the level of output and income increases to 3 500 (2 500 + 1 000). 
The increase of 200 in taxes decreases autonomous spending by c(T): therefore 0.8(200) = 160. This is illustrated by a downward shift of the demand curve for goods by 160 (from Z1 to Z2). 
The decrease in the level of output and income is therefore 160 x 5 = 800. 
The level of output and income therefore settles at 2 700 (3 500 – 800). 
The balanced budget multiplier is equal to 1, therefore the net effect of an equal increase in government spending and taxes will still have expansionary effect on the level of output and income. In this case, the increase in the level of output and income is equal to 200. 
Once again, note the difference between the impact of government spending and taxation.

Question 3
Use the following diagrams of the financial market to illustrate and explain the impact on the equilibrium interest rate of:

(a) An increase in income with simultaneous contractionary open market operations by the central bank 
(b) An increase in income with simultaneous expansionary open market operations by the central bank
[image: ]
(a) Impact on the equilibrium interest rate:
Explanation:
An increase in income will result in an increase in the interest rate because Y → Md → i
(Illustrated as a shift of the Md curve to the right)
Contractionary open market operations by the central bank consists of the central bank selling bonds (which will reduce the money supply, i.e. it is applying a contractionary monetary policy) which results in an increase in the interest rate because
Ms↓: SB↑ → PB↓ → i↑
(Illustrated by a shift of the Ms curve to the left)
Conclusion:
The interest rate (i) will definitely increase as a result.

(b) Impact of the equilibrium interest rate:
Explanation:
An increase in income will result in an increase in the interest rate because Y → Md → i
(Illustrated as a shift of the Md curve to the right)
Expansionary open market operations by the central bank consists of the central bank buying bonds (which will increase the money supply, i.e. it is applying an expansionary monetary policy) which results in a decrease in the interest rate because
Ms↑: DB↑ → PB↑ → i↓
(Illustrated by a shift of the Ms curve to the right)
Conclusion:
The impact on the interest rate (i) is uncertain/ indeterminate (it can increase or decrease or stay the same since it depends on the relative shifts of the two curves).

Question 4
Explain why investment spending is a negative function of the interest rate and a positive function of the level of output and income and name two determinants of autonomous investment in South Africa.
Investment is usually funded through borrowing. The higher the interest rate, the higher the cost of borrowing and therefore there will be fewer profitable investment opportunities thus investment spending will decrease
There is a negative (inverse) relationship between the interest rate and investment spending. In terms of a chain of events:
i↓ → I↑
i↑ → I↓
As the level of output (production) increases, the level of sales rises and firms tend to invest more – hence a positive relationship exists between the level of output and the level of investment spending. In terms of a chain of events:
Y↑ → I↑
Y↓ → I↓
Autonomous investment is determined by factors other than the level of output and income and the interest rate. These are factors such as investor confidence, expectations, uncertainty, political and social stability and regulations. Any of these factors apply to South Africa. To explain the relatively low investment in the mining and agricultural sector popular explanations in the financial press are the uncertainties regarding nationalisation of mines and the redistribution of land as well as strikes in the

Question 5
Use the following information to derive an IS curve:
● A decrease in the interest rate from 6% to 4% increases investment spending by 200.
● The multiplier is 5.
● In the goods market model, autonomous spending is 800 before the decrease in the interest rate.
Given the information the first point of the IS curve can be derived as follows:
Autonomous spending is 800 and the multiplier is 5.
The equilibrium level of output and income is therefore 800 x 5 = 4 000. The first point of the IS curve therefore indicates that at an interest rate of 6% the equilibrium level of output and income is 4 000.
The second point is derived as follows:
The vertical intercept in the goods market increases by 200 – that is the increase in investment spending due to the decrease in the interest rate – and the vertical intercept is equal to 800 + 200 = 1 000.
The equilibrium level of output and income is therefore 1 000 x 5 = 5 000.
At an interest rate of 4% the equilibrium level of output and income is 5 000.
This is then the second point on the IS curve. The IS curve is then drawn by combining these points.
Graphically the derivation is done as follows:
[image: ]
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Question 6
Derive the LM curve by assuming that the level of output and income decreases.
In the study guide, learning unit 4, section 4.4 the derivation of the LM curve is done by assuming that the level of income and output increases. To derive the LM curve by assuming that the level of income and output decreases the variables change in the opposite direction (Y↓→ Md↓→ i↓) and the demand for money curve will shift to the left.

Question 7
The following are the behavioural equations of the IS-LM model:
C = co + cYD
I = I(Y, i)
G = G
T = T
Md = YL(i)
Ms = Ms
Identify the exogenous and endogenous variables.
ALTERNATIVELY, the question above can also be phrased as follows:
The IS-LM model is a simplification of the interrelationship between selected economic variables. The model consists of a number of endogenous variables (those variables whose values are determined inside the model) and a number of exogenous variables (those variables whose values are determined outside the model).
List the various endogenous and exogenous variables in the IS-LM model.
In the IS-LM model, the most important variables that we wish to explain are the level of output and income (Y) and the interest rate (i). These variables are therefore our endogenous or dependent variables. Any variable that is influenced by these endogenous variables is by implication also an endogenous variable. However, a variable can contain both an exogenous (autonomous) and an endogenous component. For instance, consumption spending (C) has an exogenous (autonomous) component (co) as well as an endogenous component (YD). The same applies to investment spending.
An exogenous variable has an effect on the endogenous variables, but is in turn not influenced by the endogenous variables.
In the IS-LM model, the model builder determines the values of the exogenous variables, while the values of the endogenous variables are determined by the exogenous variables and the specifications of the model.
	Endogenous variables 
	Exogenous variables 

	C = co + cYD 
The YD part of the consumption function is the endogenous component. 
	C = co + cYD 
The autonomous or exogenous variables in the consumption function are co and c (the marginal propensity to consume). The co part is known as autonomous or exogenous con-sumption. 

	The part of investment spending (I) that is dependent on income and the interest rate are the endogenous components. 
	The part of investment spending that is influenced by expectations, business confidence, and political and social factors is the exogenous component of investment. This is known as autonomous or exogenous investment spending (Ī). 

	Government spending (G) does not contain an endogenous component. 
	Government spending (G) is an exogenous variable because its value is not determined by the endogenous variables in the model. 

	In this specific version of the IS-LM model that is used in this module, taxation (T) does not contain an endogenous component. 
If it is assumed that taxation is a function of the level of output and income, then it would be an endogenous variable. 
	Taxation (T) is an exogenous variable because its value is not determined by the endogenous variables. 

	The supply of money (Ms) does not contain an endogenous component. 
	The supply of money (Ms) is entirely exogenous and the quantity of money supplied is determined by the central bank. 

	The endogenous component of the demand for money (Md) is the part of the demand for money that is determined by the interest rate and the level of output and income. 
	The exogenous component of the demand for money (Md) is the part that is influenced by expectations, business confidence, and political and social factors. 





Question 8
The following diagram represents the investment function of the country of Mallerga. Use the diagram to answer the following questions:
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a. What will be the impact of a decrease of the interest rate from 10% to 6% on investment spending? How is this illustrated on the diagram?
b. Assume that the interest rate is at 6%. The government of the country of Mallerga decided to nationalize the mines and factories. Explain the impact of these actions on investment spending in the country of Mallerga.
c. Investment spending is an important determinant of the level of output and income in the economy. Explain the impact of a decrease in the interest rate and nationalization on the level of output and income and unemployment in the IS-LM model.
a. A negative relationship exists between the interest rate and investment spending. A decrease in the interest rate from 10% to 6% will increases investment spending. It is represented as a downward movement along the investment curve.
b. While the decrease in the interest rate increases investment spending the nationalisation of mines and factories will probably cause private investment to collapse and the investment curve will shift to the left. The country will end up with a lower interest rate and lower investment spending.
c. Under normal circumstances the decrease in the interest rate will increase investment spending and increase the demand for goods and will have a multiplier impact on the level of output and income. The decrease in autonomous investment due to the nationalisation of mines and factories will, however, decrease the demand for goods and via the multiplier effect decreases the level of output and income. Under these conditions, the lower interest rate will probably not have any impact on the level of investment spending and the economy of Mallarge will probably move into a recession with declining output and income and increased unemployment. Which all lead to further problems and probably an economic depression.

Question 9
Critically discuss the following statement:
The more sensitive investment spending is to a change in the interest rate and the less sensitive it is for a change in the level of output and income, the greater the impact of an expansionary fiscal policy on the level of output and income.
To be able to answer this question and critically discuss the given statement you need to understand the impact an expansionary fiscal policy has on the level of output and income in the IS-LM model. 
In terms of a chain of events, an expansionary fiscal policy has the following impact: 
G↑ → Z↑ → Y↑ 
Y↑ → Md↑ → i↑ 
The important issue is what happens to investment spending: 
i↑→ I↓
Y↑ → I↑ 
While an increase in the interest rate decreases investment spending, the increase in output and income increases investment spending. How effective an expansionary fiscal policy is in increasing the level of output and income will depend on what happens to investment spending during this process. 
If investment spending is very sensitive to the interest rate – in other words, a small rise in the interest rate will cause a relatively large decrease in investment spending then fiscal policy is less effective since the increase in government spending causes an increase in the interest rate, which decreases investment spending. Government spending is now crowding out investment spending. 
The less sensitive investment spending is to a change in output and income the less is the increase in investment spending for a given change in output and income. While government spending increases the level of output and income, it does not bring about a significant increase in investment spending. 
Expansionary fiscal policy is therefore less effective in increasing the level of output and income the greater the interest sensitivity of investment spending and the less sensitive investment spending is to a change in income. 
The statement is therefore incorrect since the impact of expansionary fiscal policy on the level of output and income is smaller and not greater.


Question 10
Use the IS-LM model to identify the variables that will have an impact on the effectiveness of an expansionary fiscal policy to increase the level of output and income and explain how these variables influence the effectiveness of fiscal policy.
IS-LM model:
In terms of a chain of events, an expansionary fiscal policy has the following impact on the level of output and income, interest rate and investment spending:
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By how much Y increases for a given increase in G depends on the multiplier effect. The multiplier is therefore one of the variables in the model that will determine the effectiveness of fiscal policy to influence the level of output and income. For example, if the increase in government spending is 100 and the multiplier is 5 the change in Y will be 500 while if the multiplier is smaller say 4 then the increase in Y is only 400.
Since the IS-LM model also includes a financial market, the increase in Y increases the demand for money and therefore the interest rate increases which in return decrease investment spending. The bigger the increase in i for a given increase in Y the less effective expansionary fiscal policy will be.
Y↑→ Md↑ → i↑
The more sensitive investment spending is to a change in the interest rate, the greater the decrease in investment spending. Therefore, fiscal policy is less effective and the increase in government spending is replacing investment spending (crowding out).
i↑ → I↓
However, in this specific IS-LM model the level of output also influences investment spending.
Y↑ → I↑
How effective an expansionary fiscal policy is in increasing the level of output and income will depend on what happens to investment spending during this process.
The less sensitive investment spending is to a change in output and income, the smaller the increase in investment spending for a given increase in output and income. Thus while government spending increases the level of output and income, it does not bring about a significant increase in investment spending.
Expansionary fiscal policy is therefore less effective in increasing the level of output and income when investment is less sensitive to a change in income.


Question 11
Use the IS-LM model to identify the variables that will have an impact on the effectiveness of an expansionary monetary policy to increase the level of output and income and explain how these variables influence the effectiveness of monetary policy.
IS-LM model:
The events chain for expansionary monetary policy is as follows:
M↑ → M/P↑ → i↓ →I↑ → Z↑ → Y↑
The effectiveness of monetary policy will be influenced by the following factors:
 The extent of the decrease in the interest rate due to a given increase in the money supply. The greater the impact of an increase in the money supply on the interest rate the greater, the increase in investment spending, the demand for goods and the level of output and income will be.
 How sensitive investment spending is to a change in the interest rate. If investment spending is very sensitive to a change in the interest rate, a given decrease in the interest rate will lead to a larger increase in investment spending, the demand for goods and the level of output and income.
 The multiplier. The greater the multiplier, the greater the impact of a change in investment spending on the level of output and income


Question 12
The impact of an expansionary fiscal policy differs in the goods market model compared to the impact in the IS-LM model. By using chain of events and words what are the similarities and differences between the impact in the goods market model and the IS-LM model?
Read the question carefully. No diagrams are needed. The similarities and differences must be explained by using chain of events and words.
In the goods market model of learning unit 2 the increase in the level of output and income is equal to the multiplier times the change in government spending (autonomous spending). The chain of events is: 
G↑ → Z↑ → Y↑ 
In terms of the demand for goods consumption spending and government spending is higher: 
C↑ + I + G↑ 
Investment spending is only an exogenous variable in the goods market model (no endogenous component). Therefore investment spending is unchanged if government spending increases. 
In the IS-LM model, however there is also an endogenous component of investment spending (the part of investment that is dependent on income and the interest rate). Therefore, an increase in government spending not only leads to an increase in the level of output and income but also to a change in the interest rate and investment spending. 
The chain of events for the IS-LM model is: 
G↑→ Z↑ → Y↑ 
Y↑ → Md↑ → i ↑ 
i↑ → I↓ 
Y↑ → I↑ 
The impact on the level of output and income is therefore not only determined by the increase in government spending but also by the change in the interest rate, how sensitive investment spending is to a change in the interest rate and how sensitive investment is for a change in income. Therefore, the change in investment spending is indeterminate unless we know how sensitive investment spending is to a change in the interest rate and to a change in income. 
The similarity between the two models is that in both instances an expansionary fiscal policy increases the level of output and income. The difference is that investment spending will be indeterminate in the IS-LM model and unchanged in the goods market. In the IS-LM model, there are more variables that influence the impact of an expansionary fiscal policy on the level of output and income.

Question 13
Use the IS-LM model to compare the impact of a contractionary monetary policy with that of an expansionary fiscal policy.
Answer
[image: ]

Looking at the chain of events and the diagram, the results of these policies are:

	Variables 
	Contractionary monetary policy 
	Expansionary fiscal policy 

	Money supply 
	Lower 
	Unchanged 

	Budget deficit 
	Unchanged 
	Higher 

	The demand for goods 
	Lower 
	Higher 

	The level of output and income 
	Lower 
	Higher 

	The interest rate 
	Higher 
	Higher 

	Investment spending 
	Lower 
	Indeterminate 



Comparison of the impact on each variable: 
Money supply (M): In the case of a contractionary monetary policy, the money supply is lower (given in the question) while for an expansionary fiscal policy it is unchanged since the money supply is not a variable of monetary policy. 
Budget deficit: In the case of a contractionary monetary policy, the budget deficit is unchanged since government spending and taxation are unchanged. In the case of an expansionary fiscal policy, the budget deficit increases since government spending is higher and/or taxation is lower. 
The demand for goods (Z): In the case of a contractionary monetary policy, the demand for goods is lower while for an expansionary fiscal policy it is higher. The reason it is lower for a contractionary monetary policy is that the higher interest rate decreases investment spending and the demand for goods. In the case of an expansionary fiscal policy, the demand for goods is higher since the level of output is higher because of the increase in government spending and/or the decrease in taxation. 
The level of output and income (Y): In the case of a contractionary monetary policy, the level of output and income is lower while for an expansionary fiscal policy it is higher. The reason it is lower for a contractionary monetary policy is that the higher interest rate decreases investment spending and the demand for goods. In the case of an expansionary fiscal policy, the level of output is higher since the increase in government spending and/or the decrease in taxation increases the demand for goods. 
The interest rate (i): In the case of a contractionary monetary policy, the interest rate is higher since the money supply is lower. In the case of an expansionary fiscal policy, the interest rate is higher since the demand for money is higher due to the increase in Y. 
Investment spending (I): In the case of a contractionary monetary policy, investment spending is lower since the interest rate is higher. In the case of an expansionary fiscal policy, the change in investment spending is indeterminate since the interest rate is higher – which decreases investment spending – and the level of output is higher – which increases investment spending.


1. Which of the following statements with regards to the consumption function C = c0 + cYD are correct? 
a. A change in the marginal propensity to consume will result in a change in consumption. 
b. A change in income will change the marginal propensity to consume. 
c. A change in consumption will cause a change in disposable income. 
d. c0 and c are the exogenous variables in the consumption function. 
e. YD is the endogenous variable in the consumption function. 
1. Only a, d and e 
2. Only b, d and e 
3. Only a, b, d and e 
4. Only a and d 
5. a, b, c, d and e 



Question 2 is based on the following information regarding a goods market model for a closed economy with a government sector: 
c = 0.6 
c0 = 400 
Ī = 300 
G = 300 
T = 100 
2. The multiplier is equal to ____ and the equilibrium level of output and income is equal to ____. 
1. 6 5 640 
2. 2.5 2 500 
3. 4 3 840 
4. 6 5 400 
5. 2.5 2 350 



3. The impact on the equilibrium interest rate of an increase in income with simultaneous expansionary open market operations by the central bank is … 
1. a lower equilibrium interest rate. 
2. a higher equilibrium interest rate. 
3. uncertain (the equilibrium interest rate can be higher, lower or the same).


Question 4 is based on the following diagram:
[image: ]
4. Which of the following statements is/are correct? 
a. If the central bank wishes to increase the interest rate in the economy it sells bonds on the open market and the Ms curve shifts to the left. 
b. If the central bank wishes to increase the interest rate in the economy it buys bonds on the open market and the Ms curve shifts to the left. 
c. The demand for money function (or Md curve) will shift because of changes in the interest rate and there will be a movement along the curve because of changes in income. 
d. The demand for money function (or Md curve) will shift because of changes in income and there will be a movement along the curve because of changes in the interest rate. 
1. a and c 
2. a and d 
3. b and c 
4. b and d 
5. Only a 



5. If the financial market is in a liquidity trap … 
a. monetary policy is ineffective in bringing about a decrease in the interest rate. 
b. financial money market participants are willing to hold less money at the same interest rate. 
c. a decrease in the interest rate can be brought about by buying of bonds by the central bank. 
d. there is a high demand for bonds. 
1. Only a 
2. Only c 
3. a and c 
4. a, b and d 
5. b, c and d 



6. Which of the following statements is/are correct? 
a. To derive the IS curve, we change the level of output and income to determine the effect on the interest rate. 
b. To derive the IS curve, we change the interest rate to determine the effect on the demand for goods. 
c. To derive the LM curve, we change the level of output and income to determine the effect on the interest rate. 
d. To derive the AD curve, we change the price level to determine the effect on the level of output and income.
1. Only a 
2. Only c 
3. a and c 
4. a, b and d 
5. b, c and d



Question 7 is based on the following diagram:
[image: ]
7. Which one of the following statements is correct? 
1. Goods market equilibrium exists only at points a and b. 
2. At point c the level of autonomous spending is lower than at point a. 
3. At point c the level of autonomous spending is the same as at point a. 
4. At point a the demand for goods is lower than at point b. 



8. Which one of the following statements is INCORRECT? 
1. The steepness of the IS curve depends on the interest sensitivity of investment spending and the output and income sensitivity of investment spending. 
2. The size of the multiplier and the income sensitivity of the demand for money are factors that will have an impact on the effectiveness of fiscal policy. 
3. A relatively more inelastic IS curve indicates a greater interest sensitivity of investment spending. 
4. “Crowding out” of investment spending will occur if the output and income sensitivity of investment spending is low and the interest sensitivity of investment spending is high.



Study the following LM curve and answer question 9 that follows:
[image: ]
9. Which of the following statements is/are correct? 
a. At point a the demand for money is higher than at point b. 
b. At point c the money supply is higher than at point a. 
c. At point a, point b and point c the financial market is in equilibrium. 
1. a, b and c 
2. Only a 
3. Only b 
4. Only c 
5. Only a and c 




10. Which one of the following policy actions in the IS-LM model is appropriate if the objectives are to decrease the budget deficit and decrease the interest rate? 
1. An expansionary fiscal policy and an expansionary monetary policy. 
2. An expansionary fiscal policy and a contractionary monetary policy. 
3. A contractionary fiscal policy and an expansionary monetary policy. 
4. An expansionary fiscal policy and a contractionary fiscal policy. 
5. It is not possible to achieve the policy objectives. 




11. Which one the following statements is correct? 
The exogenous variables in the IS-LM model are... 
1. government spending and investment spending. 
2. investment spending and money supply. 
3. interest rate and government spending. 
4. government spending and money supply. 
5. level of output and income and the interest rate. 




12. From the perspective of South Africa, an increase (appreciation) in the nominal exchange rate will cause the following to happen: 
1. The Rand becomes less expensive to foreigners. 
2. Foreign goods are more expensive to South Africans. 
3. Foreign currency is more expensive to South Africans. 
4. South African goods are more expensive to foreigners. 
5. Imports are more expensive.



13. Given the following information: 
Interest rate on RSA bonds: 6% 
Interest rate on USA bonds: 9% 
Which one of the following statements is correct? 
1. If it is expected that the R/$ exchange rate will be unchanged in a year’s time, financial market participants will be indifferent between RSA and USA bonds. 
2. If the expected appreciation of the rand is 2% in a year’s time, investment in RSA bonds are more attractive and financial market participants will buy RSA bonds. 
3. If the expected appreciation of the rand is 4% in a year’s time, investment in RSA bonds are more attractive and financial market participants will buy RSA bonds. 
4. If the expected depreciation of the rand is 3% in a year’s time, investment in RSA bonds are more attractive and financial market participants will buy RSA bonds. 



14. In an open economy the impact of an increase in the interest rate on the demand for goods and the level of output and income in the goods market can be illustrated by the following chain of events: 
1. i↑ → E↓ → X↑ → NX↓ 
2. i↑ → E↑ → X↓ → Z↓ → Y↓ 
3. E↓ → X↑ → NX↑ → Z↑ → Y↑ 
4. i↑ → I↓ → Z↓ → Y↓ → NX↓ 
Question 15 is based on the following information: Country ABC is facing a recession and an unacceptable budget deficit. To deal with the budget deficit taxes are raised and to deal with the recession the money supply is increased. 




15. Which of the following statements is/are correct? 
a. The IS curve will shift to the right and the LM curve will shift downwards. 
b. The IS curve will shift to the left and the LM curve will shift downwards. 
c. The results of these policy actions are that the interest rate increases, a capital inflow occurs, the domestic currency appreciates and the trade balance worsens. 
d. The results of these policy actions are that the interest rate declines, a capital outflow occurs, the domestic currency depreciates and the trade balance improves. 
1. a and d 
2. b and d 
3. a and c 
4. b and c 
5. Only b 





16. Which of the following statements is/are correct? 
According to the price-setting relation a(n)… 
a. decrease in the unemployment rate, will increase nominal wage demands. 
b. decrease in the mark-up of firms, given the nominal wage, will decrease the price per unit. 
c. decrease in the nominal wage, given the mark-up of firms, will increase the price per unit. 
d. increase in the unemployment rate, will decrease nominal wage demands. 
1. a, b and c 
2. a, b and d 
3. Only b and d 
4. Only a 
5. Only b



17. Which of the following statements is/are correct? 
The natural rate of unemployment … 
a. increases if there is an increase in the bargaining position of workers. 
b. increases if there is a decrease in the mark-up. 
c. decreases if there is an improvement in the protection of workers through labour legislation. 
d. increases if the unemployment rate increases. 
1. a and d 
2. b, c and d 
3. Only c and d 
4. Only a 
5. Only b 




Question 18 is based on the following diagram:
[image: ]
18. Which one of the following statements is INCORRECT? 
1. At point c the actual price level is lower than the expected price level. 
2. At point b the output level is higher than the natural level of output. 
3. At point b the real wage is the higher compared to point a. 
4. As the level of output increases the price level rises. 
5. The AS curve will shift upwards when the expected price level increases. 



19. The chain of events: P↑ → (M/P)↓ → i↑ → I↓ → Z↓ → Y↓ represents the … 
1. IS relation in the open economy. 
2. effect of a monetary expansion in the AS-AD model. 
3. derivation of the AD curve. 
4. effect of an expansionary fiscal policy in the AS-AD model. 
5. LM relation in the open economy.



20. The neutrality of money refers to the impact of a _________________ policy which means that only _____________ variables changes in the AS-AD model in the medium run. 
1. contractionary monetary nominal 
2. contractionary monetary real 
3. expansionary monetary nominal 
4. expansionary monetary real 
5. expansionary fiscal nominal


Question 1 is based on the following information: 
Government spending = 160 
Taxes = 100 
Exports = 160 
Imports = 100 
Capital inflows = 130 
Capital outflows = 200 
1. Which of the following statements are correct? 
a. A trade surplus of 60 occurs. 
b. A budget deficit of 60 occurs. 
c. The financial account surplus is equal to 70. 
d. Government spending and taxes form part of the “Current account” of the balance of payments. 
e. Capital inflows and outflows forms part of “The change in net gold and other foreign reserves” of the balance of payments. 
1. a, b and d 
2. b, c and e 
3. a, b and e 
4. b, d and e 
5. Only a and b 



2. In our goods market model an increase in the demand for goods implies … 
a. an increase in output. 
b. an increase in income. 
c. an increase in the level of employment. 
d. a decrease in unemployment. 
e. a decrease in savings. 
1. a, b, c and d 
2. a, b, c and e 
3. a, b, d and e 
4. a, c, d and e 
5. Only a, b and d



3. In the goods market autonomous consumption will ________________ while induced consumption is influenced by _________________. 
1. decrease if income decreases the level of disposable income 
2. increase if income increases non-income determinants of consumer spending 
3. remain unchanged the level of disposable income 



4. In the goods market an increase in the marginal propensity to consume will cause a(n) … 
1. upward shift of the demand for goods curve. 
2. downward shift of the demand for goods curve. 
3. flatter slope of the demand for goods curve. 
4. steeper slope of the demand for goods curve. 
5. higher vertical intercept of the demand for goods curve. 



5. Assume that the marginal propensity to consume is equal to 0.8, which of the following policy actions will increase the level of output and income by R1 000 in the goods market? 
a. An increase in government spending of R200. 
b. A decrease in taxation of R200. 
c. A decrease in taxation of R250. 
d. A decrease in government spending of R1 000. 
1. a and b 
2. a and c 
3. Only d 
4. Only b 
5. b and d 




6. Which of the following statements are correct referring to the balanced budget? 
a. A balanced budget is one where the change in government spending alone will lead to a change in the level of output and income. 
b. Assume that c = 0.6. The government increases its spending by 300 and taxes increase also by 300, then the increase in the level of output and income will be 750 due to the increase in government spending and the decrease in the level of output and income will be 450 due to the increase in taxes. The net effect is an increase of 300 in the level of output and income. 
c. The net effect of a balanced budget, in other words where ↑G = ↑T will be expansionary. 
d. The balanced budget multiplier is equal to one; that is for every 1 unit increase in government spending which is matched by a simultaneous 1 unit increase in taxes, output and income increase by 1 unit. 
1. a, b, c and d 
2. Only b, c and d 
3. Only a and c 
4. Only a, c and d 
5. Only c and d



7. Which of the following statements are correct regarding the financial market? 
a. The purpose of this financial market model is to give us an explanation of how the interest rate is determined. 
b. The total demand for money is an endogenous variable in the financial market model. 
c. Since the nominal money supply is not influenced by the interest rate in our model, but is determined by the central bank it can be regarded as an exogenous variable. 
d. An increase in the interest rate shifts the money demand curve to the right. 
1. a, b and c 
2. b, c and d 
3. a, c and d 
4. Only a and c 
5. Only b and c 



8. As the level of income increases, the transactions demand for money will: 
1. Decrease and bonds will be sold. 
2. Increase and bonds will be bought. 
3. Increase and bonds will be sold. 
4. Stay unchanged. 



9. If the financial market is in a liquidity trap ... 
a. financial money market participants will buy bonds if the money supply is increased. 
b. financial money market participants will keep money if the money supply is increased. 
c. monetary policy is ineffective in bringing about a decrease in the interest rate. 
d. an increases in the money supply has no impact on the interest rate. 
1. a, c and d 
2. b, c and d 
3. Only a and d 
4. Only b and d 
5. Only b and c


10. Which of the following statements are correct? 
a. The main instrument of fiscal policy is the budget, while the main policy variables (or instruments) are government spending and taxation. 
b. The result of the implementation of expansionary fiscal policy is that the budget deficit increases. 
c. An expansionary monetary policy entails an increase in the money supply to bring about a decrease in the interest rate in order to increase the demand for goods in the economy. 
d. A contractionary monetary policy entails a decrease in the money supply and in the IS-LM model the LM curve will shift upwards. 
1. a, b, c and d 
2. Only a, b and c 
3. Only b, c and d 
4. Only a, c and d 
5. Only a, b and d 




11. Which of the following statements are correct? 
In the IS-LM model: 
a. Investment takes place when firms increase their spending on capital goods. 
b. Investment is influenced by exogenous factors such as expectations, business confidence and regulations. 
c. An increase in investor confidence shifts the IS curve to the right. 
d. Investment is negatively related to the interest rate and positively related to the level of output and income. 
1. a, b, c and d 
2. Only b, c and d 
3. Only a, c and d 
4. Only a, b and d 
5. Only a, b and c



Questions 12 and 13 deals with the derivation of the IS curve and are based on the following information and diagrams: 
The autonomous spending at an interest rate of 10% is 3 000. 
A decrease in the interest rate from 10% to 8% increases investment spending by 1 000.
[image: ]
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12. Which of the following statements are correct? 
a. The value for a is 3 000. 
b. The value for a is 1 000. 
c. The values for b and c are: b = 2 000 and c = 3 000. 
d. The values for b and c are: b = 3 000 and c = 4 000. 
1. a and c 
2. a and d 
3. b and c 
4. b and d 



13. Which of the following statements are correct? 
a. The values for d and e are: d = 15 000 and e = 20 000. 
b. The values for d and e are: d = 10 000 and e = 15 000. 
c. The values for f and g are: f = 10% and g = 8%. 
d. The values for f and g are f = 8% and g = 10%. 
e. The values for h and i are the same as the values for d and e. 
1. a, c and e 
2. b, d and e 
3. a, d and e 
4. Only a and d 
5. Only a and c 




14. Which of the following statements is/are correct regarding the IS curve and the LM curve? 
a. An increase in autonomous investment spending will shift the IS curve to the right. 
b. An increase in the interest rate will shift the LM curve upwards. 
c. An increase in the taxes will shift the IS curve to the right. 
d. An increase in the expected price level will shift the LM curve downwards. 
1. Only a and c 
2. b, c and d 
3. a, b and c 
4. Only c and d 
5. Only a 




15. In the IS-LM model which of the following policy actions will bring about an increase in the level of output and income and an increase in the interest rate? 
1. An increase in the money supply. 
2. A decrease in the money supply. 
3. An expansionary monetary policy. 
4. An increase in the budget deficit. 
5. A contractionary fiscal policy.



16. Which one of the following statements is correct? 
Given the following information: 
Interest rate on RSA bonds: 7% 
Interest rate on USA bonds: 10% 
It is more profitable for financial market participants to buy RSA bonds if … 
1. it is expected that the R/$ exchange rate remain unchanged. 
2. the expected appreciation of the rand is 4% in a year’s time. 
3. the expected appreciation of the rand is 2% in a year’s time. 
4. the expected depreciation of the rand is 3% in a year’s time.



17. Comparing a contractionary fiscal policy with an expansionary monetary policy in the IS-LM model the results is best described by the following:
[image: ]
Answer 3


18. Which of the following statements is/are correct? 
a. An appreciation of the nominal exchange rate results in an increase in exports and the trade balance improves. The increase in exports increases the demand for goods and the level of output and income. 
b. A depreciation of the nominal exchange rate results in an increase in exports and the trade balance improves. The increase in exports increases the demand for goods and the level of output and income. 
c. According to the interest-parity condition a lower domestic interest rate leads to a depreciation of the nominal exchange rate and an improvement of the trade balance. 
d. According to the interest-parity condition a depreciation of the nominal exchange rate leads to a lower interest rate and an improvement of the trade balance. 
1. b and c 
2. a and c 
3. a and d 
4. b and d 
5. Only b


Study the following three diagrams and answer question 19.
[image: ]
19. Which of the following statements is/are correct? 
a. Diagram A represents a depreciation of the nominal exchange rate while Diagram C represents an increase in government spending. 
b. Diagram B represents an increase in exports which leads to an increase the equilibrium level of output and income. 
c. Diagram C represents the following chain of events: G → Z → Y → IM → NX. 
1. a, b and c 
2. Only a and b 
3. Only a and c 
4. Only b and c 
5. Only a 




20. In the determination of nominal wages (W) in our labour market model a … 
1. change in institutional factors will have no influence on nominal wage demands. 
2. decrease in the expected price level, will increase nominal wage demands. 
3. higher unemployment rate, will increase nominal wage demands. 
4. higher unemployment rate, will decrease nominal wage demands. 




21. According to the price-setting relation in our labour market model a(n)… 
1. decrease in the unemployment rate, will increase nominal wage demands. 
2. decrease in the mark-up of firms, given the nominal wage, will decrease the price per unit. 
3. decrease in the nominal wage, given the mark-up of firms, will increase the price per unit. 
4. increase in the unemployment rate, will decrease nominal wage demands.



Question 22 is based on the following wage-setting and price-setting relationships in our labour market model:
[image: ]
22. At point C the … 
a. unemployment rate is higher which decreases the bargaining position of workers and the nominal wage they can bargain for decreases. 
b. unemployment rate is lower which increases the bargaining position of workers and the real wage implied by price setting increases. 
c. targeted real wage is lower than the implied real wage. 
d. targeted real wage is higher than the implied real wage. 
1. b, c and d 
2. a, b and c 
3. Only a and c 
4. Only b and c 
5. Only a 



23. Which one of the following events is represented by the AS curve? 
1. Y↓ → u↓ → N↑ → W↓ → P↑ 
2. Y↑ → u↑ → N↓ → W↑ → P↓ 
3. Y↑ → N↑ → un↓ → W↑ → P↓ 
4. Y↓ → N↓ → u↑ → W↓ → P↓ 
5. W↑ → N↓ → u↑ → P↑


Question 24 is based on the following AS curve:
[image: ]
24. Which of the following statements are correct? 
a. An increase in the expected price level will shift AS to AS'. 
b. A decrease in taxation will shift AS to AS'. 
c. Compared to point a, the real wage is higher at point b. 
d. Compared to point c, the expected price level is the same as at point a. 
e. Compared to point b, the natural unemployment rate is the same at point a. 
1. a, b, c, d and e 
2. Only a, b, d and e 
3. Only b, d and e 
4. Only a and c 
5. Only a, d and e 



25. In the AS-AD model an expansionary fiscal policy will have the following impact in the medium run: 
a. The expected price level, the nominal wage and the actual price level will increase. 
b. The real money supply will decrease and the interest rate will increase. 
c. Investment spending, the demand for goods and the level of output and income will decrease. 
1. a, b and c 
2. Only a and b 
3. Only a and c 
4. Only b and c 
5. Only b



Calculate the equilibrium level of output and income if c = 0.5, c0 = 300, Ī = 400, 
G = 300 and T = 100. 
Calculate what will happen to the equilibrium level of output and income (in question 1 above) if a contractionary fiscal policy is introduced where government spending decreases to 200 and taxes increase to 150. 

Use the data in questions 1 and 2 to illustrate with the aid of a diagram the impact of a contractionary fiscal policy on the to the equilibrium level of output and income. 
 By how much did the budget deficit decrease after the implementation of contractionary fiscal policy? 
Answer
[image: ] 
[image: ]

Explain in words and by using a chain of events how the central bank can use expansionary monetary policy in the financial market to reduce the interest rate in the economy. Explain what will happen in the financial market and the bonds market. No diagram is needed.
An expansionary monetary policy involves the buying of bonds by the central bank from money market participants. On the bonds market this action increases the price of bonds and consequently the interest rate declines. As money market participants exchange their bonds for money the money supply in the economy increases and at the lower interest rate they are willing to hold more money.

Explain in words and by using chain of events the impact of a depreciation of the real exchange rate by referring to the Marshall-Lerner condition and the effect it has on net exports and the trade balance. No diagram is needed.

What was expected from you was to:
(i) explain the Marshall-Lerner condition by referring to the meaning of the concept,
(ii) briefly describe the POSITIVE effect and
(iii) the NEGATIVE effect and
(iv) indicate clearly that when the Marshall-Lerner condition holds the positive effect on the trade balance will outstrip the negative effect, in other words, the combination of higher exports and lower imports causes an improvement in the trade balance
See the explanation in the study guide, section 6.4 “Depreciation, the trade balance and output”.


Comparing the impact of an expansionary fiscal policy with that of an expansionary monetary policy in an IS-LM model for an open economy the following results are obtained:
Answer
[image: ]
[image: ]



Explain briefly why workers cannot obtain a higher real wage through an increase in nominal wages in our labour market model? Identify and briefly explain two ways in which labour can obtain a higher real wage.
Reason: Labour tries to obtain a higher real wage through an increase in nominal wages but firms respond by increasing the price level of the goods and services, thus leaving both the real wage and their share of total production unchanged.
Two ways in which labour can obtain a higher real wage in this labour market model:
(1) If firms decrease their mark-up or lower price level of goods and services.
(2) If productivity of workers increases or production of goods and services increases or if more goods are produced per unit of labour.



Use the following AS-AD model to answer the question below:
[image: ]
Assume that the shift from AD to AD1 is a result of a contractionary monetary policy in the AS-AD model. Use an events chain and/or words to explain what the impact on the level of output and income in the short and medium run is by referring to the events in the financial, goods and labour markets.
Firstly, it was important to identify the variable of a contractionary monetary policy, namely a decrease in the money supply. Therefore, the chain of events will start with a decrease in money supply. Since we follow the traditional approach in ECS2602, where the money supply changes first and the interest rate changes because of the change in Ms the chain of events cannot start with i (the interest rate).
USING CHAIN OF EVENTS:
[image: ]
[image: ]
ALTERNATIVELY, IN WORDS:
In the short run
Financial market: To decrease the money supply, the central bank sells bonds on the financial market. As a result, the real money supply decreases and the interest rate increases.
Goods market: An increase in the interest rate decreases investment spending which decreases the demand for goods and the level of output and income.
Labour market: A fall in the level of output decreases the level of employment, and the unemployment rate increases and the bargaining position of workers decreases. Given this decrease in the bargaining position of workers, the nominal wage decreases. Firms react to this decrease in wages by decreasing the price level.
In the medium run
Labour market
At point b, the expected price level on which workers based their real wage negotiations turned out to be higher than the actual price level. They revised their expected price level downwards and negotiated for lower wages. In reaction to the lower nominal wages, firms decreased the price level.
Financial and goods market
As the price level decreases, the real money supply increases in the financial market leading to a fall in the interest rate. The decrease in the interest rate causes firms to increase their investment spending, and aggregate demand and the level of output and income therefore increase.
See section 9.4 in the study guide where an increase in money supply was explained. This exam question refers to the opposite direction, namely a decrease in money supply. See also Activity 9.7 in TL102.

An increase in the level of production
1 decrease the level of income in the economy
2 has no impact on the level of income in the economy
3 increases the level of income in the economy
4 causes firms to employ less factors of production
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